


( iii )

Contents
(Exam Information)

	Important Information
(Complete Information about KVS Entrance Exam and Company Helpline No. given for 
any problem Related to Book and exam)

v

	Syllabus and Exam Pattern vii

	 Solved Papers	

	 	 KVS Primary Teacher Exam] 2023 (Solved Paper) [Exam Date 21-02-2023 (Shift-1)]	 1-22

	 	 KVS Primary Teacher Exam] 2023 (Solved Paper) [Exam Date 22-02-2023 (Shift-2)]	 23-43

	 	 KVS Primary Teacher Exam] 2023 (Solved Paper) [Exam Date 24-02-2023 (Shift-1)]	 44-64

	 	 KVS Primary Teacher Exam] 2023 (Solved Paper) [Exam Date 25-02-2023 (Shift-2)]	 65-86

	 	 KVS Primary Teacher Exam] 2023 (Solved Paper) [Exam Date 26-02-2023 (Shift-2)]	 87-107

	 	 KVS Primary Teacher Exam] 2023 (Solved Paper) [Exam Date 28-02-2023 (Shift-1)]	 108-129

	 Practice Sets	

	 	 Practice Set &1 	 1-16

	 	 Practice Set &2 	 17-31

	 	 Practice Set &3 	 32-46

	 	 Practice Set &4 	 47-61

	 	 Practice Set &5 	 62-76

	 	 Practice Set &6 	 77-91

	 	 Practice Set &7 	 92-106

	 	 Practice Set &8 	 107-121

	 	 Practice Set &9 	 122-136

	 	 Practice Set &10 	 137-152



Paper  |   1

KVS Primary Teacher Exam, 2023
Solved Paper

Part-I 
Proficiency in Languages

General English
	 1.	 Identify the part of speech of the 

underlined word in the following 
sentence.

		  Hand to hand fighting took place in 
Galwan Valley.

		  (A)	 Noun 	 (B)	 Verb
		  (C)	 Adjective	 (D)	Adverb
	 2.	 Fill in the blank in the sentence given 

below by choosing the correct option out 
of those that follow :

		  Covid-19 has again .................. in China.
	 	 (A)	 broken out	 (B)	 broken off
		  (C)	 broken up	 (D)	broken with
	 3.	 Fill in the blank in the sentence given 

below by choosing the correct option out 
of those that follow :

		  I promise to ................ you when I visit 
Delhi.

		  (A)	 call up	 (B)	 call at
		  (C)	 call on	 (D)	call for
	 4.	 Identify the part of the sentence given 

below that has an error in it.
		  Has    either of    you saw   my book ?
		  (a)	       (b)             (c)             (d)
		  (A)	 (a)	 (B)	 (b)
		  (C)	 (c)	 (D)	 (d)
	 5.	 Fill in the blank in the sentence given 

below by choosing the correct option out 
of those that follow :

		  At the time the phone rang, she ............... 
the table.

		  (A)	 has been laying
		  (B)	 was laying
		  (C)	 has laid
		  (D)	 had been laid
	 6.	 She is writing a letter.
		  Choose the option in which VOICE has 

been correctly changed into Passive 
Voice.

		  (A)	 A letter was being written by her.
		  (B)	 A letter has been written by her.
		  (C)	 A letter was written by her.
		  (D)	 A letter is being written by her.

	 7.	 The teacher said, “Why are you late 
today, Sheela ?”

		  Choose the option in which Narration 
in the above sentence has been correctly 
changed into Indirect Narration.

		  (A)	� The teacher asked Sheela why was 
she late that day.

		  (B)	� The teacher asked Sheela why she 
was late that day ?

		  (C)	� The teacher asked Sheela why she 
was late that day.

		  (D)	� The teacher enquired Sheela why 
she was late that day.

	 8.	 ACCUMULATE
		  Choose the word which is similar in 

meaning to the one given above.
		  (A)	 Accuse	 (B)	 Predict
		  (C)	 Store	 (D)	Accord
	 9.	 TIMID
		  Choose the word opposite in meaning to 

the one given above.
		  (A)	 Bold	 (B)	 Cool
	 	 (C)	 Refined	 (D)	False
	 10.	 Choose the option in which the jumbled 

words given below have been formed 
into a meaningful and grammatically 
correct sentence.

		  (a)	 must know	 (b)	 can help you
		  (c)	 all the facts	 (d)	 before I
		  (e)	 I
		  (A)	 b, d, c, a, e	 (B)	 d, b, e, a, c
		  (C)	 c, b, a, e, d	 (D)	a, c, e, d, b

lkekU; fganh

	 11.	 nso$baæ dh laf/k ls cuus okyk 'kCn gSµ

		  (A)	 nsosaæ	 (B)	 nsobaæ

		  (C)	 nsohaæ	 (D)	nsoksaæ

	 12.	 rRle 'kCn dk mnkgj.k gSµ

		  (A)	 {khj	 (B)	 [khj

		  (C)	 xkscj	 (D)	dke

	 13.	 ^eksgu us lksgu dks xqCckjs fn,A okD; ds 
js[kkafdr va'k esa dkjd gSµ

		  (A)	 deZ	 (B)	 laçnku

		  (C)	 viknku	 (D)	vf/kdj.k

	 14.	 ^i{kh* dk i;kZ;okph 'kCn ugha gSµ

		  (A)	 [kx	 (B)	 f}t

		  (C)	 fogaxe	 (D)	mnd

	 15.	 lewg ls fHkUu 'kCn gSµ

		  (A)	 rSjuk	 (B)	 g¡luk

		  (C)	 lksuk	 (D)	cPps

funsZ'k (ç'u la[;k 16 ls 20 rd)  
uhps fn, x, x|ka'k dks i<+dj lokZf/kd mfpr 
fodYi dk p;u dhft,µ

fL=;ksa dh leL;k,¡ cgqr&lh gSa vkSj xaHkhj gSaA ysfdu 
muesa ,d Hkh ,slh ugha gS tks tknw Hkjs 'kCn ^f'k{kk* 
ls gy u dh tk ldrh gksaA igys viuh fL=;ksa dks 
f'k{kk nks] mUgsa mudh fLFkfr ij NksM+ nks] rc os rqEgsa 
crk,¡xh fd muds fy, D;k lq/kkj vko';d gS \ gesa 
ukfj;ksa dks ml fLFkfr esa igq¡pk nsuk pkfg,] tgk¡ os 
viuh leL;k dks vius <ax ls lqy>k ldsaA

	 16.	 x|ka'k esa fdudh leL;kvksa dk mYys[k gS \

		  (A)	 ckydksa dh	 (B)	 iq#"kksa dh

		  (C)	 fL=;ksa dh	 (D)	tu lewg dh

	 17.	 f'k{kk dks ^tknw Hkjk* D;ksa dgk x;k gksxk \

		  (A)	 f'k{kk okys O;fDr tknwxj gksrs gSa

	 	 (B)	� f'k{kk ls leL;k,¡ lnSo ds fy, [kRe gks 
tkrh gSaA

		  (C)	� f'k{kk vfr 'kh?kz leL;k,¡ lekIr dj 
nsrh gS

	 	 (D)	 f'k{kk leL;k,¡ lqy>k ldrh gS

	 18.	 x|ka'k ds vuqlkj fL=;ksa esa bruh lkeF;Z gS fd 
osµ

		  (A)	 viuh leL;k,¡ Lo;a lqy>k ldrh gSaA

	 	 (B)	 iq#"k lekt dks ihNs /kdsy ldrh gSaA

		  (C)	 Lo;a gh viuh tkfr dks f'kf{kr dj ysaA

	 	 (D)	 lekt lq/kkj ij oDrO; ns ldrh gSaA

	 19.	 ^fL=;k¡ Lo;a vius lq/kkj dk nkf;Ro ogu dj 
ldrh gSaA* ;g dFkuµ

		  (A)	 iw.kZr% lVhd gS

	 	 (B)	 iw.kZr% vlaxr gS

		  (C)	 vkaf'kd :i ls fopkj.kh; gS

	 	 (D)	 vkaf'kd :i ls laxr gS

[Exam Date : 21-02-2023 (Shift-1)]
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	 20.	 ^f'k{kk* ls cuus okyk fo'ks"k.k 'kCn gSµ

		  (A)	 f'k{kk Øe	 (B)	 f'kf{kr

		  (C)	 lh[kuk	 (D)	 fl[kkus

Part-II 
General Awareness, Reasoning 

& Proficiency in Computer
General Knowledge & Current Affairs
	 21.	 Which of the following Indus Valley 

civilization sites is not in India ?
		  (A)	 Kalibangan	 (B)	 Rakigarhi
		  (C)	 Lothal	 (D)	Mohenjo-Daro
	 22.	 Which of the following is NOT secured 

to the citizens of India by the Preamble 
of the Constitution of India ?

		  (A)	 Political Justice
		  (B)	 Liberty of Faith
		  (C)	 Equality of Income
		  (D)	 Dignity of the Individual
	 23.	 What is the World Social Forum founded 

in 2001 ?
		  (A)	� A network of countries with 

socialist constitutions
		  (B)	� A global civil society platform 

opposed to neo-liberal globalization
		  (C)	� Annual global meeting of scientists 

devoted to humanitation causes
		  (D)	� International committee to counter 

terrorism
	 24.	 Which of the following is/are source/s of 

rayon ?
		  (A)	 Coal, water and air
		  (B)	 Polyester and cotton
		  (C)	 Wood pulp
		  (D)	 PET (Polyethylene terephthalate)
	 25.	 Which of the following solutions help 

in identifying the presence of starch 
(carbohydrates) in a food item ?

		  (A)	 Diluted Iodine solution
		  (B)	 Copper sulphate solution
		  (C)	 Solution of caustic soda
		  (D)	 Diluted solution of potasium perman
			   ganate
	 26.	 Match the deficiency of vitamins and 

minerals in List-I with disease/disorder 
caused by them in List-II.

		  	 List-I		  List-II
		  (a)	 Vitamin B1	 (i)	� Bone and tooth 

decay
		  (b)	 Vitamin D	 (ii)	 Beriberi
		  (c)	 Iodine	 (iii)	Rickets
		  (d)	 Calcium	 (iv)	Goiter

		  Select the correct answer using the codes 
given below the lists.

		  (A)	 (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
		  (B)	 (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
		  (C)	 (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
		  (D)	 (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
	 27.	 Which two countries stood first and 

second in the International Boxing 
Association Youth Men's and Women's 
World Boxing Championship held at La 
Nucia, Spain, in November 2022 ?

		  (A)	 India and Spain
		  (B)	 Spain and Uzbekistan
		  (C)	 Uzbekistan and India
		  (D)	 India and Venezuela
	 28.	 Who among the following was awarded 

the 31st Saraswati Samman award for 
the year 2021 ?

		  (A)	 Govind Mishra
		  (B)	 Vasdev Mohi
		  (C)	 Ramdarash Mishra
		  (D)	 Vishwanath Prasad Tiwari
	 29.	 Which film won the best film award in 

the 53rd International Film Festival of 
India (IFFI) 2022 held in Goa ?

		  (A)	 ‘I have Electric Dreams’
		  (B)	 ‘No end’
		  (C)	 ‘Perfect Number’
		  (D)	 ‘When the Waves Are Gone’
	 30.	 National Cadet Corps (NCC) celebrated 

its 74th anniversary on which of the 
following days ?

		  (A)	 27 November, 2022

		  (B)	 26 November, 2022

		  (C)	 1 November, 2022

		  (D)	 10 November, 2022

Reasoning Ability
	 31.	 How many 5’s are there in the following 

number sequence each of which is 
immediately preceded By ‘2’ or ‘3’ and 
is immediately succeeded by ‘7’ or ‘8’ ?

		  3 5 8 5 2 5 7 3 5 8 2 5 6 3 5 7 5 5
		  (A)	 4	 (B)	 5
		  (C)	 3	 (D)	2
	 32.	 Geeta moves 60 metres in north from her 

home and then turns right. After walking 
90 metres she reached traffic signal. Then 
she turns right and moves 100 metres to 
reach market. Her college is 60 metres to 
the east of the market. In which direction 
is her college from her home ?

		  (A)	 North	 (B)	 South
		  (C)	 North-East	 (D)	South-East

	 33.	 Select the option which best illustrates 
the three given classes.

		  Singers, Swimmers, Engineers.
		  (A)

	
		  (B)

	
		  (C)

	
		  (D)

�
	 34.	 Nine friends M, N, O, P, Q, R, S, T and 

U are sitting in a row facing South, not 
necessarily in the same order.

		  U is to the left of M and at the third place 
at the left of N. T is at the end of the row. 
Q is between O and P. O is at the third 
place at the right of T. S is immediate 
right of O.

		  Who is sitting between M and N ?
		  (A)	 R	 (B)	 S
		  (C)	 T	 (D)	U
	 35.	 Given below is a question followed by 

two statements numbered (I) and (II), 
each containing some information. 
Decide which of the statement(s) is/are 
sufficient to answer the question.

	 	 (Q) : �On which day of the week did Riya 
arrive ?

		  Statement (I) : Her mother correctly 
remembers that she arrived before 
Wednesday but after Sunday.

		  Statement (II) : Her sister correctly 
remembers that she did not arrive on 
Monday.

	 	 (A)	 �The statement (I) alone is sufficient 
to answer the question while the 
statement (II) alone is not sufficient.

	 	 (B)	 �The statement (II) alone is sufficient 
to answer the question while the 
statement (I) alone is not sufficient.

		  (C)	� Both statements (I) and (II) 
together are necessary to answer 
the question.

		  (D)	� Both statements (I) and (II) together 
are not sufficient to answer the 
question.
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Computer Literacy
	 36.	 Which of the following video telecon- 

ferencing software is commonly used 
on Windows System and owned by 
Microsoft ?

		  (A)	 Meet	 (B)	 Webex
		  (C)	 Go To Meeting	(D)	Skype
	 37.	 What is the default web browser used 

with a Microsolt Windows 10 machine ?
		  (A)	 Edge	 (B)	 Mosaic
		  (C)	 Opera	 (D)	Safari
	 38.	 Expand the term EPROM :
		  (A)	� Electronic Programmable Read 

Only Memory
		  (B)	� Erasable Programmable Read Only  

Memory
		  (C)	� Electrically Programmable Read 

Only Memory
		  (D)	� Erase in Program Read Only 

Memory
	 39.	 Which of the following feature is present 

in MS-PowerPoint but is not included in 
MS-Word ?

		  (A)	 Transitions	 (B)	 Tables
		  (C)	 Zoom	 (D)	Formatting
	 40.	 Which of the following file format is not 

supported in Windows Media Player ?
		  (A)	 .mp3	 (B)	 .pdf
		  (C)	 .wma	 (D)	 .wmv

Part-III 
Perspectives on Education  

and Leadership
Understanding the Learner

	 41.	 What is the role of Primary socialising 
agency in Education ?

		  (A)	 Formal Learning
		  (B)	 Development of skills
		  (C)	 Socialisation
		  (D)	 To inculcate values and beliefs
	 42.	 Which one of the following is secondary 

socialising agency ?
		  (A)	 School	 (B)	 Family
		  (C)	 Society	 (D)	Media
	 43.	 How can you bring Home and School 

together Through :
		  (A)	 frequent meetings with parents
		  (B)	 meeting of peer members
		  (C)	 teacher's conference
		  (D)	 seminars in schools
	 44.	 The role of PTA in school is :
		  (A)	� to discuss the student problems 

with the management.
		  (B)	� to give constructive suggestions for 

school development.

		  (C)	 to attend school programs.
	 	 (D)	 to find fault with school programs.
	 45.	 The boys and girls expect from school 

................ in the adoloscent stage.
		  (A)	 Emotional support
		  (B)	 Co-operation
		  (C)	 Sympathy
		  (D)	 Empathy
	 46.	 Moral domain category is :
		  (A)	 Nothing but responsibility
	 	 (B)	 �Differentiating between right and 

wrong
		  (C)	 Feeling
		  (D)	 Recognising
	 47.	 .................. is the behavioural trait in 

adoloscent.
		  (A)	 Frustration
		  (B)	 Mal adjustment
		  (C)	 Aggression

		  (D)	 Struggle with their identity
	 48.	 What is ‘Pedagogy’
		  (A)	� It is broad range of teaching meth-

odology including assessment and 
instructions.

		  (B)	 Type of learning activity.
		  (C)	� Group of teaching learning materi-

als.
		  (D)	 Lesson Plan execution.
	 49.	 ‘Maturation’ with reference to child 

growth is :
		  (A)	 Feelings
		  (B)	� Physical, Psychological and adop- 

tive changes in childs growth
		  (C)	 Interest
		  (D)	 Emotion
	 50.	 What is ‘Phonology’ in Language devel-

opment of a child ?
		  (A)	 Using grammar
		  (B)	 Communication
		  (C)	 Understanding rules
		  (D)	 Creating sounds at speech
	 51.	 Which one of the following could be 

community resource in learning ?
		  (A)	 Cinema hall	 (B)	 Temple
		  (C)	 Horse stable	 (D)	Fire station
	 52.	 Hidden Curriculum is ............... .
		  (A)	 Prescribed formal syllabus
		  (B)	 Curriculum hidden in the text
		  (C)	� Focus on informal gaining of values 

and beliefs
		  (D)	 Syllabus practised by school

	 53.	 Which types of relationship enhances 
learning among teachers and students ?

		  (A)	 Social Relationship
	 	 (B)	 Official Relationship
		  (C)	 Emotional Relationship
		  (D)	 Cordial Relationship
	 54.	 What is Experiential Learning ?
		  (A)	 Group discussion mode of Learning
		  (B)	 Hands on Learning
		  (C)	 Informal Learning
		  (D)	 Sports integrated Learning
	 55.	 .............. enhances Learning in class-

rooms.
		  (A)	 Questioning technique
		  (B)	 Lecture methods
		  (C)	 Use of A. V. Aids
		  (D)	 Use of Black Boards

Understanding Teaching Learning
	 56.	 Environment is an element of :
		  (A)	 Constructivism	(B)	 Realism
		  (C)	 Connectivism	 (D)	Behaviourism
	 57.	 What is the purpose of Curriculam in 

Schools ?
		  (A)	 To standardize Learning goals
		  (B)	 To conduct timely examination
		  (C)	 To achieve instructional objectives
		  (D)	 To complete syllabus in time
	 58.	 The meaning of Learning is :
		  (A)	� Achieving high academic excell- 

ance
		  (B)	 Gaining knowledge
		  (C)	 Manipulation of circumstances
		  (D)	 Positive altered behaviour
	 59.	 When the child is directly exposed to life 

situation, the learning is called :
		  (A)	 Natural Learning
		  (B)	 Connectivity Learning
		  (C)	 Experiential Learning
		  (D)	 Realistic Learning
	 60.	 By visiting a forest what the child will be 

able to develop ?
		  (A)	 Self exploring capacity
		  (B)	 Thinking ability
		  (C)	 Power of expression
		  (D)	 Imagination Power
	 61.	 What may not be function of education ?
		  (A)	� Transmitting knowledge to the 

society
		  (B)	� Spreading orthodox and super- 

stitions
		  (C)	 Transformation of society
		  (D)	 Healthy society
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	 62.	 Learning disability is called :
		  (A)	 Dysgraphia	 (B)	 Dyscalcula
		  (C)	 Dyslexia	 (D)	Autism
	 63.	 The community is an important Teaching 

are Learning centre, why ?
		  (A)	 Extension of school activities
		  (B)	� Provides learning opportunities in 

real settings
		  (C)	 Substitute to schools
		  (D)	 Informal learning source.
	 64.	 Which Ministry introduced ‘Manodarpan’ 

scheme ?
		  (A)	 Ministry of Civil Aviation
		  (B)	 Ministry of Agriculture
		  (C)	 Ministry of Commerce and Industry
		  (D)	 Ministry of Education
	 65.	 Which one of the following is severe 

mental disorder ?
		  (A)	 Schizophrenia
		  (B)	 Anxiety
		  (C)	 Depression
		  (D)	 Bipolar disorder
	 66.	 The common mental disorder among 

children in the school is :
		  (A)	 Sensory disorder
		  (B)	 Social disorder
		  (C)	 Anxiety disorder
		  (D)	 Behavioural disorder
	 67.	 The root cause of mental illness among 

school children is :
		  (A)	 Heredity and Psychological stress
		  (B)	 Nutrition
		  (C)	 Home atmosphere
		  (D)	 Peer behaviour
	 68.	 Which step would form intervention for 

Divyangjan ?
		  (A)	 Physical support
		  (B)	 Assess and Assist
		  (C)	 Emotional support
		  (D)	 Physical therapy
	 69.	 How can Intellectual disability be identi-

fied in classroom ?
		  (A)	 Restlessness
		  (B)	 Loneliness
		  (C)	 Poor Comprehension
		  (D)	 Maladjustment
	 70.	 To address mild mental health issue, 

what should the school do ?
		  (A)	 Counselling
		  (B)	 Medical intervention
		  (C)	 Frequent interaction with Parents
		  (D)	� Integrating social emotional Lear- 

ning

Creating Conducive Learning 
Environment

	 71.	 The role of Parent to address mental 
health issue among children is :

		  (A)	� Spending quality time with adoles-
cents, enjoying shared activities

		  (B)	 Medical intervention
		  (C)	 Appointing counsellors at home
		  (D)	� Parents should have awareness on 

adolescent issues.
	 72.	 Learning space in school means :
		  (A)	 Well ventilated classroom
		  (B)	� Well set classroom with non-

threatning environment
		  (C)	 ICT tools in classroom
		  (D)	 Comfortable desks
	 73.	 The main Professional responsibility of a 

headmaster apart from administration is :
		  (A)	 Supervision
		  (B)	 Liason with the authorities
		  (C)	 Controlling the school
		  (D)	 Teaching
	 74.	 The vision and philosophy of a school 

will be reflected in  ................
		  (A)	 School Prospectus
		  (B)	 Institutional Plan
		  (C)	 School Development Plan
		  (D)	 School Magazine
	 75.	 A leader should be :
		  (A)	 Inspiration and Director
		  (B)	 Manager
		  (C)	 Producer
		  (D)	 Financier
	 76.	 The Headmaster, to make proper planning 

will take the help of ...............
		  (A)	 District collector
		  (B)	 School management
		  (C)	 Local authorities
		  (D)	 Pupils, teachers and parents
	 77.	 The Foremost important character of a 

school leader is :
	 	 (A)	 Co-operation	 (B)	 Qualification
		  (C)	 Conviction	 (D)	Aggression
	 78.	 As per the Idea of Transformational 

Leadership an effective leader should :
		  (A)	 motivate and inspires people.
		  (B)	� coach a person to realise his poten-

tial.
		  (C)	 set the pace for his own organization
		  (D)	� provide General direction and tools 

for goal achievement.

	 79.	 Which is the essential quality of a 
leader  ?

		  (A)	 Rigidity
		  (B)	 Inspiring others
		  (C)	 Accountability
		  (D)	 Flexibility
	 80.	 Among the following which one can't be 

a Quality of Leader :
		  (A)	 Honesty and Integrity
	 	 (B)	 Confidence
	 	 (C)	 Lack of Confidence
		  (D)	 Accountability

School Organization & Leadership
	 81.	 What is the role of Headmaster as an 

academician ?
		  (A)	� To act as a mediator between stu-

dents and teachers
		  (B)	 Supervision of school
		  (C)	� Bridge between student and manag- 

ement
		  (D)	� To Provide Academic and Adminis-

trative Leadership
	 82.	 Key Phrase of pace-setter Leadership is 

................. .
		  (A)	 I can do it better
		  (B)	 Let me teach you how it is done
		  (C)	 Let's dream big and set standards
		  (D)	� I will give you the tools and auto- 

nomy to execute
	 83.	 The Leadership which exercise minimum 

control is :
		  (A)	 Democratic Leadership
		  (B)	 Laissez Faire Leadership
		  (C)	 Authoritarian Leadership
		  (D)	 Personality Attributes of Leadership
	 84.	 According to NEP 2020 Balavatika is 

.................. .
		  (A)	� Education received from age 3-5 

years
		  (B)	 Education upto class VIII
		  (C)	� Education received in primary 

stage from class I to V
		  (D)	� Education received from age 5 to 

10 years
	 85.	 Spenser described education as :
		  (A)	 Meaningful life
		  (B)	 Complete living
		  (C)	 Self learning
		  (D)	 Preparation for life
	 86.	 Instructions in mother tongue at Primary 

stage of education deals under which 
Article of Constitution of India ?

		  (A)	 Article 29	 (B)	 Article 510
		  (C)	 Article 350(A)	(D)	Article 239
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	 87.	 DIKSHA Programme by ministry of 
Education is about :

		  (A)	� Free uniform and text books in 
Primary education.

		  (B)	 Digital Infrastructure resources
		  (C)	 Operation Black Board
		  (D)	� Universalisation of Primary 

education
	 88.	 The urgent requirement in schools with 

respect to Learning process as empha-
sised in NEP 2020 is :

		  (A)	 Foundational Literacy and numercy
	 	 (B)	 Scientific temper
		  (C)	 Numerical aptitude
		  (D)	 Critical thinking
	 89.	 What is informal education ?
		  (A)	� Education gained in spiritual centres
		  (B)	� Education given in Primary educ- 

ation
		  (C)	� Education gained through various 

sources in life
		  (D)	 Education given in organised setup
	 90.	 NEP 2020, has modified the structure/

Pattern of school education as :
		  (A)	 8 + 2 + 2 + 3	 (B)	 5 + 3 + 3 + 4
		  (C)	 10 + 2 + 3	 (D)	5 + 5 + 2 + 3

Perspectives in Education
	 91.	 According to NEP 2020, ECCE stands 

for :
		  (A)	� Emotional Childhood Care and 

Education
		  (B)	� Elementary Childhood Centre and 

Education
	 	 (C)	 �Effective Childhood Care and Edu- 

cation
		  (D)	� Early Childhood Care and Edu- 

cation
	 92.	 The NCF 2005 was prepared by :
		  (A)	 CBSE	 (B)	 UGC
		  (C)	 NCERT	 (D)	NIOS
	 93.	 RTE Act, 2009 come into force with 

effect from :
		  (A)	 1st April 2009	 (B)	 1st April 2010
		  (C)	 1st June 2009	 (D)	1st July 2010
	 94.	 The word NEP stands for :
		  (A)	 National Educational Policy
		  (B)	 New Education Policy
		  (C)	 National Educational Program
		  (D)	 New Education Program
	 95.	 RTE Act 2009, prescribes .............. 

number of minimum working hours per 
teacher per week.

		  (A)	 40	 (B)	 41
		  (C)	 42	 (D)	45

	 96.	 As per RTE Act 2009, no child shall be 
detained upto class :

		  (A)	 8th	 (B)	 6th

		  (C)	 7th	 (D)	9th

	 97.	 If Professional Counsellors are not 
available in school at it may lead to :

		  (A)	� less participation in co-curricular 
activities.

		  (B)	� increasing mental illness among 
children.

		  (C)	 decreasing interest on studies.
		  (D)	 low level of motivation.
	 98.	 NEP 2020, emphasizes mainly on :
		  (A)	 Functional Literacy and Numeracy
		  (B)	 Reading, writing and arithmatic
		  (C)	� Foundational Literacy and Numer-

acy
		  (D)	� Understanding their mother tongue 

only
	 99.	 Which section of RTE Act 2009, deals 

with School Management Committee ?
		  (A)	 Section 18	 (B)	 Section 19
		  (C)	 Section 20	 (D)	Section 21
	100.	 It is parent's ............... to send their 

wards to school as per RTE Act 2009.
		  (A)	 Responsibility	 (B)	 Duty
		  (C)	 Right	 (D)	Option

Part-IV
fganh

	101.	 o.kZ vkSj mPpkj.k LFkku dh n`f"V ls 
fuEufyf[kr esa vlaxr ;qXe gSµ

		  (A)	 g & daB~;	 (B)	 'k & rkyO;

		  (C)	 B & ew/kZU;	 (D)	l & vks"B~;

	102.	 ^loZK* 'kCn esa la;qDr O;atu ^K* --------------- 
o.kks± ds ;ksx ls cuk gSA

		  (A)	 t~ $ ´k	 (B)	 t $ ;

		  (C)	 t~ $ ;	 (D)	t~ $ ´k

	103.	 fuEufyf[kr esa laKk dh n`f"V ls vlaxr ;qXe 
gSµ

		  (A)	 eFkqjk &	 tkfrokpd laKk

	 	 (B)	 yackbZ &	 Hkkookpd laKk

		  (C)	 Hkkjr &	 O;fDrokpd laKk

	 	 (D)	 'khryrk & 	 tkfrokpd laKk

	104.	 ^og Nk= d{kk esa çFke vk;k gS*& okD; esa 
js[kkafdr 'kCn gS %

		  (A)	 xq.kokpd fo'ks"k.k

	 	 (B)	 ifjek.kokpd fo'ks"k.k

		  (C)	 lkoZukfed fo'ks"k.k

	 	 (D)	 la[;kokpd fo'ks"k.k

	105.	 fuEufyf[kr esa la[;k dh n`f"V ls vlaxr ;qXe 
gSµ

		  (A)	 iSalB & 56	 (B)	 mupkl & 49
		  (C)	 vV~Bkou & 58	 (D)	mulB & 59

	106.	 loZuke dh n`f"V ls fuEufyf[kr esa vlaxr 
;qXe gSµ

		  (A)	 iq#"kokpd & rw] vki

	 	 (B)	 laca/kokpd & tks] eSa] ge

		  (C)	 vfu'p;okpd & dkSu] D;k

	 	 (D)	 fu'p;okpd & ;g] og

	107.	 ^buesa ls dkSu vf/kd cyoku gS* okD; esa 
js[kkafdr 'kCn gSµ

		  (A)	 xq.kokpd fo'ks"k.k

	 	 (B)	 lkoZukfed fo'ks"k.k

		  (C)	 ifjek.kokpd fo'ks"k.k

	 	 (D)	 la[;kokpd fo'ks"k.k

	108.	 ^og cktkj dh vksj vk;k gksxkA* & okD; ds 
js[kkafdr 'kCnksa esa inca/k gSµ

		  (A)	 fØ;k inca/k

	 	 (B)	 fo'ks"k.k inca/k

		  (C)	 fØ;kµfo'ks"k.k inca/k

	 	 (D)	 laKk inca/k

	109.	 fuEufyf[kr esa fyax dh n`f"V ls vlaxr ;qXe 
gSµ

		  (A)	 ekyh & ekfyu	 (B)	 'ksj & 'ksjuh

		  (C)	 ck?k & ckf?ku	 (D)	lsB & lsBkbu

	110.	 fuEufyf[kr esa L=hfyax 'kCn gSµ

		  (A)	 QkVd	 (B)	 njh

		  (C)	 cxhpk	 (D)	vk¡xu

	111.	 fuEufyf[kr esa opu dh n`f"V ls vlaxr ;qXe 
gSµ

		  (A)	 lnhZ & lfnZ;k¡	 (B)	 cgu & cgusa

		  (C)	 xqCckjk & xqCckjs	 (D)	>kM+h & >kfM+;ksa

	112.	 dkjd fpÊksa dh igpku dh n`f"V ls fuEufyf[kr 
esa vlaxr okD; gSµ

		  (A)	 ekf.kd us i= fy[kk & drkZ dkjd

	 	 (B)	� ek¡ ds fy, nok ys vkvks & laçnku 
dkjd

		  (C)	 jes'k dejs esa cSBk gS & vf/kdj.k dkjd

		  (D)	� eSaus mls rkj }kjk lwfpr fd;k & dj.k 
dkjd

	113.	 fuEufyf[kr esa i;kZ;okph 'kCn dh n`f"V ls 
vlaxr ;qXe gSµ

		  (A)	 HkkSajk & Hk`ax] vfy] "kV~in

	 	 (B)	 iou & vfuy] çHkatu] ek#r

		  (C)	 iRuh & nkjk] dkfeuh] dkark

	 	 (D)	 i{kh & fogx] [kx] f}t
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	114.	 foykse 'kCnksa dh n`f"V ls fuEufyf[kr esa 
vlaxr ;qXe gSµ

		  (A)	 rki & 'khr

	 	 (B)	 nqyZHk & lqyHk

		  (C)	 ikjaifjd & 'kkldh;

	 	 (D)	 rksM+uk & tksM+uk

	115.	 eqgkojk vkSj mlds vFkZ dh n`f"V ls fuEufyf[kr 
esa dkSu&lk vlaxr gS \

		  (A)	 ukd HkkSa fldksM+uk & dfe;k¡ fudkyuk

	 	 (B)	 dybZ [kqyuk & lPpkbZ irk py tkuk

		  (C)	� Å¡V ds eq¡g esa thjk gksuk & vko';drk 
vf/kd ij feyuk cgqr de

	 	 (D)	� fn;k rys v¡/ksjk & fn;k ds ikl esa vaèksjk 
gksrk gSA

	116.	 ^vc tkxks rqe vk¡[ksa [kksyks]

		 vkSj gekjs lax [ksyksA

		 QSys lqanj egd rqEgkjh

		  egds lkjh xyh xyhA

		  mi;qZDr dkO;ka'k ^fjef>e* ikB~;iqLrd ds 
fdl ikB ls gS \

		  (A)	 cl ds uhps ck?k	 (B)	 uV[kV pwgk

		  (C)	 frryh vkSj dyh	(D)	cgqr gqvk

	117.	 ^ulh#íhu* vkSj *teky lkgc^ ^fjef>e* 
iqLrd ds fdl ikB ds pfj= gSa \

		  (A)	 nksLr dh iks'kkd

	 	 (B)	 my>u

		  (C)	 ,d lkFk rhu lq[k

	 	 (D)	 nku dk fglkc

	118.	 ^jk[k dh jLlh* ikB ds vk/kkj ij crkb, fd 
yksuiks xkj frCcr ds dkSu&ls jktk ds ea=h 
Fks  \

		  (A)	 rhlosa jktk	 (B)	 bdrhlosa jktk

		  (C)	 cÙkhlosa jktk	 (D)	rSarhlosa jktk

	119.	 ^gyhe pyk pk¡n ij* ikB ds vk/kkj ij crkb, 
fd pk¡n ij gyhe us D;k ns[kk \

		  (A)	 xM~<+s	 (B)	 i'kq
		  (C)	 ikuh Hkjk rkykc	 (D)	isM+µikS/ks

	120.	 Þos lc le>rs gSa fd eSa ukS lky dk gw¡ blfy, 
eSa cq¼w gw¡A ij eSa cq¼w ugha gw¡AÞ ^Lora=rk dh 
vksj* ikB ds vk/kkj ij crkb, fd /kuh bl  
çdkj eu gh eu D;ksa cM+cM+k;k \

		  (A)	 mldks tkudkjh ugha fey jgh FkhA

	 	 (B)	 og lc dqN tkurk FkkA

		  (C)	 mldks dqN irk ugha FkkA

	 	 (D)	� vkJe esa cu jgh ;kstuk ds ckjs esa mldks 
dksbZ dqN crkrk ugha FkkA

English
	121.	 Identify the part of speech of the 

underlined word in the following 
sentence :

		  Please return the book to me today.
		  (A)	 Noun	 (B)	 Verb
		  (C)	 Adjective	 (D)	Adverb
	122.	 Identify the part of speech of the 

underlined word in the following 
sentence :

		  I am indebted to you for your help.
		  (A)	 Noun	 (B)	 Article
		  (C)	 Preposition	 (D)	 Interjection
	123.	 Fill in the blank in the following sentence 

with appropriate preposition. 
		  I am surprised ................ his audacity.
		  (A)	 on	 (B)	 for
		  (C)	 of	 (D)	at
	124.	 Fill in the blank in the following sentence 

with appropriate preposition.
		  I will not do anything ................. 

consulting you.
		  (A)	 without	 (B)	 with
		  (C)	 on	 (D)	 for
	125.	 Identify the tense form of the following 

sentence.
		  Ram has always helped me.
		  (A)	 Simple Present
		  (B)	 Present Perfect
		  (C)	 Present Continuous
		  (D)	 Present Perfect Continuous
	126.	 Choose the option in which VOICE in 

the given sentence has been correctly 
changed.

		  I have written a note for the meeting.
		  (A)	� A note has been written by me for 

the meeting.
		  (B)	� A note for the meeting has been 

written by me.
		  (C)	� A note for the meeting by me has 

been written.
		  (D)	� A note had been written by me for 

the meeting.
	127.	 Choose the option in which VOICE in 

the given sentence has been correctly 
changed.

		  A feeling of guilt will at last overpower 
him.

		  (A)	� A last he will feel guilty being 
overpowered.

		  (B)	� He would be at last overpowered by 
a feeling of guilt.

		  (C)	� At last he will be overpowered with 
a feeling of guilt.

		  (D)	� He will at last be overpowered by a 
feeling of guilt.

	128.	 The king said to the jester, “I have often 
told you not to crack old jokes.”

		  Choose the option in which the above 
sentence has been changed into Indirect 
Speech

		  (A)	� The king told the jester that he had 
often told him not crack old jokes.

		  (B)	� The king warned the jester not to 
crack old jokes.

		  (C)	� The king told the jester that he 
had often told him not to crack old 
jokes.

		  (D)	� The king advised the jester that he 
had often warned him not to crack 
old jokes.

	129.	 Identify the part of the following 
sentence that contains an error.

		  Suvritta asked   me where   would I  stay
		            (a)                (b)             (c)       (d) 
		  (A)	 (a)	 (B)	 (b)
		  (C)	 (c)	 (D)	 (d)
	130.	 Choose the word which means the same 

as the one given below :
		  Universal
		  (A)	 Admirable	 (B)	 Particular
		  (C)	 Global	 (D)	Versatile
	131.	 Choose the word which means the same 

as the one given below :
		  Tremendous
		  (A)	 Petite	 (B)	 Tiny
		  (C)	 Colossal	 (D)	Troublesome
	132.	 Choose the word opposite in meaning to 

the one given below :
		  Adamant
		  (A)	 Additional	 (B)	 Tenacious
		  (C)	 Unsure	 (D)	Overhead
	133.	 Choose the word opposite in meaning to 

the one given below :
		  Hoisted
		  (A)	 Lowered	 (B)	 Hung
		  (C)	 Liberated	 (D)	Drilled
	134.	 Choose the option in which the word/

phrase given below have been rearranged 
into correct sentence.

	 	 (a)	 for rowing	 (b)	 offers facilities
	 	 (c)	 the lake	 (d)	 as well as fishing
		  (A)	 (c), (d), (b), (a)	(B)	 (c), (b), (a), (d)
		  (C)	 (a), (b), (c), (d)	(D)	 (d), (c), (b), (a)
	135.	 Choose the option in which the word/

phrase given below have been rearranged 
into correct sentence.

		  (a)	 before Daddy	 (b)	 and put it
		  (c)	 this option	 (d)	 do consider
		  (A)	 (a), (b), (d), (c)	(B)	 (b), (a), (c), (d)
		  (C)	 (d), (c), (b), (a)	(D)	 (d), (b), (c), (a)
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Direction (Q. No. 136 to 140)
Read the passage given below and answer 
the questions that follow :
At B ............... Coffee House there was 
constant speculation about Selvi's early life, 
Varma heard at the gossip table that Selvi had 
been brought up by her mother in a back row 
of Vinayak Street, in a small house with tiles 
falling off, with not enough cash at home to put 
the tiles back on the roof, and had learnt music 
from her, practising with her brother and sister 
accompanying her on their instruments.
At this time Mohan had a photo studio on 
Market Road, Once Selvi's mother brought the 
girl to be photographed for a school magazine 
after she had won the first prize in a music 
competition. Thereafter Mohan visited them 
casually now and then, as a sort of well-wisher 
of the family, sat in the single chair their home 
provided, drank coffee and generally behaved 
as a benign God to that family by his advice 
and guidance.
Sometimes he would request Selvi to sing, and 
then dramatically leave the chair and sit down 
on the floor cross-legged with his eyes shut, in 
an attitude of total absorption in her melody.
	136.	 Mohan came to know Selvi's family as 

.................. .
		  (A)	 a well-wisher	 (B)	 a photographer
		  (C)	 a musician	 (D)	her secretary
	137.	 He was attracted towards her ................
		  (A)	 family wealth	 (B)	 looks
		  (C)	 music	 (D)	 social status
	138.	 Rumour was that ................
		  (A)	 Selvi was born to rich parents.
		  (B)	� she learnt music from established 

artistes.
		  (C)	 won prizes at music competitions
		  (D)	 her mother was her music teacher.
	139.	 Read the following statements :
		  (a)	� The family received advice and 

guidance from Mohan.
	 	 (b)	 �He did not give them any financial 

assistance.
		  (A)	 (a) is right and (b) is wrong
		  (B)	 (b) is right and (a) is wrong
		  (C)	 Both (a) and (b) are right
		  (D)	 Both (a) and (b) are wrong
	140.	 ‘.............. as a benign God ...........’
		  (A)	 handsome	 (B)	 innocent
		  (C)	 kind-hearted	 (D)	plain

EVS
	141.	 Fruit is a ripened ............... .
		  (A)	 Anther	 (B)	 Stigma
		  (C)	 Pollen	 (D)	Ovary

	142.	 Below are few statements related to 
air. Read them and choose the correct 
answer with the help of given codes.

		  (a)	 Moving wind is called air
		  (b)	 Air expands on heating
		  (c)	� Air moves from the region of low 

air pressure to high air pressure.
		  Codes :
		  (A)	 (a) and (b) 	 (B)	 (b) and (c)
		  (C)	 (a) and (c)	 (D)	only (b)
	143.	 Why are Pitcher plants heterotrophs ?
		  (A)	� They do not contain chlorophyll in 

their leaves.
		  (B)	 They do not get sunlight.
		  (C)	� They do not get nitrogen from the 

soil.
		  (D)	 They do not get water from the soil
	144.	 Which of the following animals leave 

their herd after reaching the age of 14 to 
15 and start living alone ? 

		  (A)	 Cheetah	 (B)	 Tiger
		  (C)	 Deer	 (D)	Elephant
	145.	 Given below are two statements, one 

labeled as Assertion (A) and the other 
labeled as Reason (R).

		  Choose the correct answer with the help 
of codes given below :

		  Assertion (A) :	� Plants mostly get water 
from rain

		  Reason (R) :	� When it rains, plants 
seem to get a new look

		  Codes :
		  (A)	� (A) and (R) both are true and (R) is 

the correct explanation of (A)
		  (B)	� (A) and (R) both are true and (R) is 

not the correct explanation of (A)
		  (C)	 (A) is true but (R) is false
		  (D)	 (A) is false but (R) is true.
	146.	 Match the following :
		  (i)	 Lithos means		  (a) Vapour
	 	 (ii)	 Atmos means	 	 (b) Stone
		  (iii)	 Hudor means	 	 (c) Life
	 	 (iv)	 Bios means		  (d) Water
		  (A)	 (i)-(a), (ii)-b), (iii)-(c), (iv)-(d)
		  (B)	 (i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)
		  (C)	 (i)-(b), (ii)-(b), (iii)-(c), (iv)-(a)
		  (D)	 (i)-(a), (ii)-(c), (iii)-(b), (iv)-(d)
	147.	 Given below are two statements. One of 

them is labeled as Assertion (A) and the 
other as Reason (R).

		  Choose the correct answer with the help 
of codes given below :

		  Assertion (A) :	� Some micro-organisms 
cause diseases in hu-
man beings, plants and 
animals

		  Reason (R) :	� Such disease causing 
micro-organisms are 
called pathogens

		  Codes :
		  (A)	� (A) and (R) both are true and (R) is 

the correct explanation of (A)
		  (B)	� (A) and (R) both are true but (R) is 

not the correct explanation of (A)
		  (C)	 (A) is true but (R) is false
		  (D)	 (A) is false but (R) is true.
	148.	 Given below are two statements, one 

labeled as Assertion (A) and the other 
labeled as Reason (R).

		  Choose the correct answer with the help 
of codes given below :

		  Assertion (A) :	� Animals including 
humans cannot make 
their own food.

		  Reason (R) :	� Humans get their food 
from both plants as well 
as animals.

		  Codes :
		  (A)	� (A) and (R) both are true and (R) is 

the correct explanation of (A)
		  (B)	� (A) and (R) both are true and (R) is 

not the correct explanation of (A)
		  (C)	 (A) is true but (R) is false
		  (D)	 (A) is false but (R) is true.
	149.	 Below are two statements. Choose the 

correct answer from given options :
		  Statement (I) :	� Diarrhoea is not a 

fatal disease.
		  Statement (II) :	� Diarrhoea leads to 

loss of water and salts 
from the body.

		  Codes :
		  (A)	� Statement (I) and (II) both are true.
		  (B)	� Statement (I) and (II) both are false.
		  (C)	� Statement (I) is true but Statement 

(II) is false.
		  (D)	� Statement (I) is false but Statement 

(II) is true.
	150.	 How does mosquito find a human 

being  ?
		  (A)	 By the smell of human body.
		  (B)	 By their infrared eyes.
	 	 (C)	 By the flapping of their wings.
		  (D)	 By the movement of human body.
	151.	 Which of the following statements are 

true about Changpa ?
		  (a)	 Changpa are nomadic people
		  (b)	� Goats are their most important 

treasure
		  (c)	� This tribe is used to staying at a 

single place
		  (d)	� Changpa rear special kind of goats 

from whom the world famous 
Pashmina wool is made

		  (A)	 Only (a)	 (B)	 (a) and (b)
		  (C)	 (a), (b) and (c)	 (D)	 (a), (b) and (d)
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	152.	 Think about following statements and 
choose the correct answer with the help 
of given codes.

		  (a)	� We learn many things from each 
other in a family.

		  (b)	� It is the custom of every house to 
remove the shoes before entering 
the house.

		  (c)	� Some animals also live with us in 
our houses.

		  (d)	� Some animals also live in our house 
without our permission.

		  Codes :
		  (A)	 Only (a) and (b)
		  (B)	 Only (a) and (c)
		  (C)	 Only (a), (b) and (d)
		  (D)	 Only (a), (c) and (d)
	153.	 Which among the following is/are true in 

the context of Oceans ?
		  (a)	 Oceans are all interconnected.
		  (b)	� Ocean water remains active only 

during the new moon and full 
moon.

		  (c)	� The three chief movements of 
ocean water are the waves, the tides 
and the ocean currents.

		  (d)	� The Atlantic Ocean is the largest 
ocean in size.

		  (A)	 (a) and (b)	 (B)	 (b) and (c)
		  (C)	 (a), (b) and (d)	 (D)	 (a), (c) and (d)
	154.	 Think about the following statements 

and choose the correct answer with the 
help of given codes.

		  (a)	� The peninsula is a piece of land 
that is surrounded by water on four 
sides.

		  (b)	� Pakistan is separated from India by 
the Palk Strait.

		  (c)	� Local time changes by four minutes 
for every one degree of longitude.

		  (d)	� Large countries which stretch 
extensively from North to the South 
do not have a single Standard Time 
for the whole country.

		  Codes :
		  (A)	 (a), (b) and (c)	(B)	 (a) and (b)
		  (C)	 (a), (c) and (d)	(D)	 (c) and (d) 
	155.	 Rakesh said that “I want to climb the 

Himalayas. I want to take training 
for mountaineering. I have selected 
one institute. National Institute of 
Mountaineering for this”. Rakesh 
will have to go to which district of 
Uttarakhand to register ?

		  (A)	 Nainital	 (B)	 Almorah
		  (C)	 Uttarkashi	 (D)	Ranikhet

	156.	 Below are two statements. Choose the 
correct answer from given options :

		  Statement (I) :	 �Natural fibres like 
cotton, wool, silk, ny-
lon are obtained from 
plants or animals.

		  Statement (II) :	 �Synthetic fibres are 
made by human be-
ings, that is why these 
are called synthetic or 
man-made fibres.

		  (A)	� Statement (I) and (II) both are true.
		  (B)	� Statement (I) and (II) both are false.
		  (C)	� Statement (I) is true but Statement 

(II) is false.
		  (D)	� Statement (I) is false but Statement 

(II) is true.
	157.	 Think about the statements given below 

and choose the correct answer with the 
help of given codes :

		  (a)	� Process of removing weeds is called 
weeding.

		  (b)	� The process of removing seeds 
from the chaff of harvested crop is 
called threshing.

		  (c)	� Cutting of crop after maturing is 
also called weeding.

		  (d)	� Supplying of water at regular 
timeand interval is called irrigation.

		  Codes :
		  (A)	 Only (a) and (c)
		  (B)	 Only (a) and (b)
		  (C)	 Only (a), (b) and (c)
		  (D)	 Only (a), (b) and (d)
	158.	 Given below are two statements, One of 

them is labeled as Assertion (A) and the 
other as Reason (R). Choose the correct 
answer with the help of codes given 
below :

		  Assertion (A) :	� Sandy soil is well aera-
ted

		  Reason (R) :	� The sand particles of 
sandly soil are very 
small

		  Codes :
		  (A)	� (A) and (R) both are true and (R) is 

the correct explanation of (A)
		  (B)	� (A) and (R) both are true and (R) is 

not the correct explanation of (A)
		  (C)	 (A) is true but (R) is false
		  (D)	 (A) is false but (R) is true.
	159.	 Choose the correct statement about 

weeds.
	 	 (a)	 �Weeds grow in the fields without 

being planted.
		  (b)	� It is important to remove weeds 

from the field.

		  (c)	� Weeds reduce the production 
of field by using the water and 
fertilizers given to the crops.

	 	 (d)	 �Weeds do not affect the production 
of crops.

		  (A)	 (a) and (b)	 (B)	 (a) and (c)
		  (C)	 (a), (b) and (c)	(D)	 (a), (b) and (d)
	160.	 What are the State-run schools for ? 

Select the correct answer with the help 
of codes given below :

		  (a)	� So that all children get a chance to 
read and write

		  (b)	� So that only people of certain 
communities get a chance to read 
and write

		  (c)	� So that only the children of the 
family living below the poverty line 
get good education

		  (d)	� So that everybody may get a chance 
to learn something from each other

		  Codes :
		  (A)	 (a) and (c)	 (B)	 Only (b)
		  (C)	 Only (c)	 (D)	 (a) and (d)

Mathematics
	161.	 A greatest number of 5 digits which is 

completely divisible by 139 is :
		  (A)	 99999	 (B)	 99965
		  (C)	 99941	 (D)	99802
	162.	 The difference between the largest and 

the smallest 5-digit numbers formed by 
the digit 3, 0, 7, 9, 6 is :

		  (A)	 67061	 (B)	 67051
		  (C)	 66951	 (D)	67951
	163.	 The number of 2-digit prime numbers in 

which digits are also prime is :
		  (A)	 4	 (B)	 6
		  (C)	 8	 (D)	21
	164.	 Which digit willcome in the place of * in 

the following multiplication ?
		  (234) × (3*5) = 80730
		  (A)	 0	 (B)	 2
		  (C)	 4	 (D)	6
	165.	 The next two terms of the pattern 

, , ,6
1

12
1

20
1

30
1 ........ , ........ are :

		  (A)	 ,40
1

50
1 	 (B)	 ,36

1
40
1

		  (C)	 ,42
1

56
1 	 (D)	 ,45

1
60
1

	166.	 Sujata bought 3
2  kg of brinjals, 2 3

1  kg 

of potatoes, 2 2
1  kg of onions and 600 g 

of ginger. The total weight of vegetables 
bought by her (in decimals) is :

		  (A)	 5.9 kg	 (B)	 6.0 kg
		  (C)	 6.1 kg	 (D)	6.25 kg



Paper  |   9

	167.
	

1 1 2 5
, , ,

2 3 5 9  
when arranged in increasing 

order are  :

		  (A)	 , , ,2
1

3
1

5
2

9
5  	 (B)	 , , ,3

1
2
1

5
2

9
5

		  (C)	 , , ,3
1

2
1

9
5

5
2 	 (D)	 , , ,3

1
5
2

2
1

9
5

	168.	 In a school, 44% of the students are girls 
and the rest are boys. If the number of 
boys is 448, find the number of girls in 
the school.

		  (A)	 800	 (B)	 400
		  (C)	 360	 (D)	352
	169.	 A bunch of 8 bananas costs ` 24 and 

a single banana costs ` 4.50. Raju 
purchased 66 bananas. The amount of 
money spent by him is :

		  (A)	 ` 297	 (B)	 ` 291
		  (C)	 ` 201	 (D)	` 198
	170.	 A boy goes to school at a speed of 6 km/

hr which is 4 km away from home and 
returns home at a speed of 12 km/hr. The 
average speed is :

		  (A)	 9 km/hr
		  (B)	 8 km/hr
		  (C)	 6 km/hr
		  (D)	 10 km/hr
	171.	 How many line/lines of symmetry does 

the figure have ?

		
		  (A)	 1	 (B)	 3
		  (C)	 6	 (D)	12
	172.	 One of the side face of a cuboid is a square 

having an area of 36 cm2 and the longer 
edge in each of the four rectangular faces 
is of length 12 cm, The area of each of 
the rectangular faces (in cm2) is :

		  (A)	 36	 (B)	 54
		  (C)	 72	 (D)	108
	173.	 If joseph runs 1 km in one round of a 

square park, then the area of the square 
park is :

		  (A)	 1 sq km	 (B)	 1.5 sq km
		  (C)	 4 sq km	 (D)	0.0625 sq km
	174.	 If the side of a square is doubled, its area 

becomes :
		  (A)	 doubled	 (B)	 3 times
		  (C)	 4 times	 (D)	8 times

	175.	 A refrigerator is of capacity 270 liters. If 
it is 1 m high and 0.5 m wide, its depth 
(in cm) is :

		  (A)	 55	 (B)	 65
		  (C)	 60	 (D)	54
	176.	 8.4 litre of a medicine is to be packed 

in small bottles of capacity 75 ml. The 
number of small bottles which can be 
filled is :

		  (A)	 100	 (B)	 110
		  (C)	 112	 (D)	120
	177.	 There are three ropes of length 240 cm, 

320 cm and 460 cm which are to be cut 
into equal lengths. The greatest possible 
length of each piece is :

		  (A)	 80 cm	 (B)	 60 cm
		  (C)	 20 cm	 (D)	10 cm
	178.	 It is Monday on 9th January, 2023. What 

day of the week is Aprit 12, 2023 ?
		  (A)	 Monday	 (B)	 Tuesday
		  (C)	 Wednesday	 (D)	Thursday
	179.	 1 – 2 + 3 – 4 + 5 – 6 + 7 – 8 + ............. + 

151 on simplification, gives :
		  (A)	 60	 (B)	 70
		  (C)	 75	 (D)	76
	180.	 The product of two numbers is 1728. If 

their HCF is 12, Their LCM is :
		  (A)	 160	 (B)	 144
		  (C)	 136	 (D)	120

Solutions
1.	(A)	 The underlined word Fighting is an 

uncountable noun. 
2.	(A)	 broke out will be used in the blank 

space. Break out: Spread of disease, 
fire, war etc.

	 	 	 Break off: Suddenly stopping while 
saying or doing something

			   Breakup: ending a meeting etc.
			   Break with: ending/breaking a rela-

tionship
3.	(C)	 Call on will be used in the blank 

space. Call on somebody means- to 
go to meet someone (to make a short 
visit to a person or place).

		  	 Call-up means- to call, an order for 
recruitment in the army.

			   Call at means stopping of train etc. 
for a short time at specified places

4.	(A)	 Have will be used in place of Has 
because the subject of the sentence 
'you' is plural. Hence, according to 
the rule of subject-verb-agreement, 
the verb will also be plural.

5.	(B)	 Was laying will be used in the blank 
space. Lay means placing an object 
in a particular position or on a surface 

or placing or putting an object in the 
right position for a particular purpose. 
Hence, option (B) is correct.

6.	(D)	 The given  Active voice is of Present 
Continuous Tense. Its Passive structure 
is as follows

	 	 	 [sub+is+ being + V₂ + other words]
			   A letter is being written by her.

7.	(C)	 The given sentence is a direct speech 
sentence based on an interrogative 
structure. Its indirect speech structure 
is as follows-

			   [sub + asked + obj.+ wh word + clause 
(Assertive).]

			   The teacher asked Sheela why she 
was late that day.

8.	(C)	 Synonym of Accumulate is store. 
			   Accumulate :  to collect a large 

number of things over a long period 
of time

			  Accuse : to say that someone has done 
something morally wrong, illegal or 
unkind

			   Predict : to say that an event or 
action will happen in the future, 
especially as a result of knowledge 

or experience
			   Accord : a formal agreement

9.	(A)	 The opposite word of Timid is Bold.
			   Timid : One who gets scared easily, 

is shy and gets frightened easily.
	 	  	 Bold : Courageous, self-confident, 

fearless.
	 	  	 Refined : Refined, purified by removing 

adulteration.
10.	(B)	 After rearranging the parts, the correct 

sequence  of the sentence will be as 
follows:  

			   Before I can help you, I must know 
all the facts.

11.	(A)	 nso $ baæ dh laf/k ls cuus okyk 'kCn 
^nsosUæ* gSA blesa xq.k Loj laf/k gSA bldk 
fu;e gSµ v $ b ¾ ,A

12.	(A)	 fn;k x;k 'kCn ^{khj* [khj dk rRle gSA 
vU; fodYiksa esa fn, x, rn~Hko 'kCnksa ds 
rRle fuEuor~ gSaµ

			   rn~Hko 	 rRle
			   [khj		 {khj
			   xkscj	 xkse;
			   dke 	 deZ
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13.	(A)	 okD; ds js[kkafdr va'k ^eksgu dks* esa deZ 
dkjd gSA ^dks* deZ dkjd dh foHkfDr 
gksrh gSA laKk vFkok loZuke ds ftl :i 
ij fØ;k dk Qy iM+rk gS] mls deZ dkjd 
dgrs gSaA

14.	(D)	 fn;k x;k 'kCn mnd i{kh dk i;kZ;okph 
ugha gSA vU; fodYiksa esa fn, x, 'kCn ̂ [kx] 
f}t] fogaxe i{kh ds i;kZ; gaSA mnd ds 
i;kZ;okph gSaµ ty] vacq] rks;] uhj] ikuh] 
okfj vkfnA

15.	(D)	 fn;k x;k 'kCn ^cPps* lewg ls fHkUu 
gS D;ksafd rSjuk] lksuk vkSj g¡luk rhuksa 
vdeZd fØ;k,¡ gSaA cPps 'kCn cPpk dk 
cgqopu :i gSA

16.	(C)	 fn, x, x|ka'k esa fL=;ksa dh leL;kvksa dk 
mYys[k fd;k x;k gSA fL=;ksa dh leL;k,¡ 
cgqr&lh gSa vkSj xaHkhj gaSA vr% fodYi 
(C) lgh gSA

17.	(D)	 fn, x, x|ka'k esa f'k{kk dks ^tknw Hkjk* 
blfy, dgk x;k gS D;ksafd f'k{kk leL;k,¡ 
lqy>k ldrh gSA fL=;ksa dks f'kf{kr djus 
ds ckn mUgsa mudh fLFkfr ij NksM+ nks] rkfd 
os viuh leL;k,¡ Lo;a lqy>k ldsaA vr% 
fodYi (D) lgh gSA

18.	(A)	 x|ka'k ds vuqlkj fL=;ksa esa bruh lkeF;Z gS 
fd os viuh leL;k,¡ Lo;a ly>k ldrh 
gaSA vko';drk gS] mUgsa dsoy f'kf{kr djus 
dhA

19.	(A)	 fn, x, x|ka'k ds vuqlkj fL=;k¡ Lo;a 
vius lq/kkj dk nkf;Ro ogu dj ldrh 
gSaA ;g dFku iw.kZr% lR; gSA vr% fodYi 
(A) lgh gSA

20.	(B)	 ^f'k{kk* 'kCn ls cuus okyk fo'ks"k.k 'kCn 
^f'kf{kr* gksxkA ^laKk vFkok loZuke dh 
fo'ks"krk crkus okys 'kCn fo'ks"k.k dgykrs 
gSaA

21.	(D) The Mohenjo Daro site of the Indus 
Valley Civilization is not located in 
India.
zzMohenjodaro is a Sindhi word 
meaning the mound of the dead.
zz It was discovered by Rakhaldas 
Banerjee in 1922.

			   It is called the oasis or the garden of 
Sindh.

22.	(C) The Preamble of the Constitution of 
India does not ensure income equality 
to the citizens of India.
zz The Indian Preamble mentions 
social, economic and political 
justice.

zz The Preamble provides for freedom 
of thought, expression, belief, 
religion and worship.
zz The Preamble includes words like 
dignity of the individual, unity and 
integrity of the nation.

23.	(B)	 The World Social Forum, established in 
2001, is a global civil society platform  
opposing neo-liberal globalization.
zz The World Social Forum is an 
annual meeting of civil society 
organizations that was first held in 
Brazil. The World Social Forum 
was first hosted in India in 2004 in 
the city of Mumbai.

24.	(C)	 The source of rayon is wood pulp.
zz Rayon is a fiber made from  
regenerated cellulose. Because it is 
produced from naturally occurring 
polymers, it is neither a completely 
synthetic nor a natural fibre. It is a 
semi-synthetic fibre.

25.	(A)	 Dilute iodine solution helps in 
identifying the presence of starch 
(carbohydrate) in a food item.
zz The presence of starch is detected 
when the colour of the solution is 
blue or black.
zz The main sources of starch are 
cereals (rice, wheat and maize) 
and root vegetables (potatoes and 
cassava).

26.	(B)	 Match List-I with List-II (a)-(ii). (b)-
(iii), (c)-(iv), (d)-(i) is correct.
zz Vitamin D causes rickets, Vitamin 
B-1 causes beriberi, iodine causes 
goiter and calcium deficiency 
causes bone and tooth decay.

27.	(C)	 Uzbekistan and India stood first and 
second in the International Boxing 
Association Youth Men's and Women's 
World Boxing Championship held in 
La Nucia Spain in November 2022. 
zz This was the fourth time in the 
tournament's history that men and 
women competed in the same 
championship.
zz A total of 598 boxers from 73 
countries participated.

28.	(C)	 Ramadarsh Mishra received the 31st 
Saraswati Samman Award for the 
year 2021.
zz Saraswati Samman is given by K.K. 
Birla Foundation.
zz Saraswati Samman is an annual 
award given for outstanding literary 
work in any of the 22 languages 
of the Eighth Schedule of the 
Constitution.

29.	(A)	 'I Have Electric Dreams' won the Best 
Film Award at the 53rd International 
Film Festival of India (IFFI) 2022 
held in Goa.
zz It is a Spanish film.
zz It was held on 28 November 2022 
at Dr. Syama Prasad Mukherjee 
Stadium near Panaji.

30.	(A)	 National Cadet Corps (NCC) cel-
ebrated its 74th anniversary on 27 
November 2022.
zz NCC was formed on 15th July, 
1948 under the National Cadet 
Corps Act 1948.
zz NCC Foundation Day is also being 
celebrated across the country. In 
which cadets are participating in 
marches, blood donation camps 
and social development programs.

31.	(A)� 3 5 8 5 2 5 7 3 5 8 2 5 6 3 5 7 5 5

			   The number of such 5 which are 
preceded by 2 or 3 and immediately 
followed by 7 or 8 is 4. 

32.	(D)

	

North

EastWest

South

		� 

90 m

60 m

Home

Market
College

100 m

Traffic Signal

60 m

			   It is clear from the diagram that his 
college is in the south-east direction 
from home.

33.	(B)	 The correct Venn diagram is as follows.

			 

Singer

Swimmer

Engineer

34.	 (A)

	 N R M S O Q P TU

			   R is seated between M and N.
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35.	(C)	 According to statement (I),
zz According to mother,
zz Priya came on Monday or Tuesday.
zz According to statement (II),
zz According to sister,
zz Priya did not come on Monday.
zz According to statements (I) and 
(II),
zz Riya came on Tuesday.

36.	(D)	 Skype video teleconferencing soft-
ware is commonly used in Windows 
systems and is a platform owned by 
Microsoft.
zz It is a program that provides com-
munication between people ev-
erywhere.
zz It is used by millions of people and 
organizations around the world to 
make free one-on-one or group 
video and phone calls, to send 
instant messages and to share files.
zz It enables the transmission of ser-
vices such as Internet telephony 
voice calls and faxes, SMS and 
other voice messaging apps, using 
the Internet.

37.	(A)	 The default web browser used with 
a Microsoft Windows 10 machine is 
Edge.
zz It is a cross-platform web browser 
developed by Microsoft.
zz It was first launched in 2015 for 
Windows 10 and Xbox One.
zz Edge has integration with Cortana 
and its extensions are hosted on the 
Microsoft Store.

38.	(B)	 EPROM stands for Erasable Pro-
grammable Read-Only Memory.
zz It is a completely erasable program-
mable read-only memory, a type 
of computer memory that loses its 
content when the power supply is 
cut off.
zz Its content is erased by consuming 
UV rays.

39.	(A)	 MS Power Point has a transition 
feature which is not included in MS 
Word.
zz Transition effects in MS PowerPoint 
can be applied to slide transitions.
zz This can be applied to all the selected 
slides in the presentation.
zz Users can use this to adjust the 
speed as per their requirement.

40.	(B)	 Windows Media Player does not 
support pdf file format.
zz PDF stands for Portable Document 
Format.

zz It is used to distribute read-only 
documents that preserve the page 
layout.
zz It was developed by Azeb Systems 
in 1990.
zz It provides an easy and secure 
approach to data transmission and 
sharing via email and other sources.

41.	(D) The role of the Primary socialising 
agency in Education is to inculcate 
values and beliefs.
zz Primary socialization is the period 
early in a person's life during 
which they initially learn and build 
themselves through experiences 
and interactions around them. 
zz This process starts at home through 
the family, in which one learns what 
is or is not accepted in society, 
social norms and cultural practices 
that eventually one is likely to 
take up. Family is the primary 
socializing agency.

42.	(A) School is a Secondary socialising 
agency.
zz In the words of Brubacher, 
‘School is an active, direct and 
formal agency of education and 
'socialization”. 
zz The school has been conceived with 
the purpose of giving a "heteroge-
neous society commonness. 
zz The school has to be seen as a con-
science keeper of the society, which 
is continuously striving to take 
humanity to the next higher levels 
of moral, intellectual and aesthetic 
development through engagement 
with children. 
zz Schools provide both formal and 
informal contexts for the students. 
The formal context is the one 
provided in the classroom wherein 
the content of socialization is 
determined by the curriculum and 
the teaching-learning process. 

43.	(A) 	We can bring Home and School 
together through frequent meetings 
with parents.
zz It helps to bridge the gap between 
home and school by fostering 
communication, collaboration and 
mutual understanding. 
zz These meetings allow teachers and 
parents to discuss a child's progress, 
address concerns and work together 
to support the child's academic and 
personal development.

44.	(B)	 The Role of PTA in school is to give 
constructive suggestions for school 
development.
zz The Parents-Teachers Association 
(PTA) plays a crucial role in 
enhancing the overall development 
of a school. It serves as a bridge 
between parents and teachers, 
promoting collaboration for the 
betterment of students' academic 
and personal growth.
zz Functions of the Parent Teacher 
Association are as follows:

	v	To encourage various aspects of 
parental involvement.

	v	To advise on school policies.
	v	To give constructive suggestions 

for school development.
	v	To organize discussions on 

subjects related to school 
discipline.

	v	To encourage parents to become 
more involved with their 
children's school.

	v	To convey examination results 
to parents.

45.	(A)	 The boys and girls expect from school 
emotional support in the adoloscent 
stage.
zz 	During adolescence, boys and girls 
go through significant physical, 
emotional and psychological 
changes. 
zz In this stage, they often seek 
emotional support from their school 
environment, including teachers, 
peers and counselors, to help them 
navigate challenges such as identity 
formation, academic pressure and 
social relationships. 
zz 	A supportive school environment 
fosters confidence, well-being and 
healthy development.

46.	(B)	 Moral domain category differentiates 
between right and wrong.
zz 	It refers to the cognitive process 
of thinking through and making 
judgments about moral issues.
zz 	The moral domain in child devel-
opment refers to a child's ability 
to distinguish between right and 
wrong, make ethical decisions 
and develop values like honesty, 
fairness and justice.
zz 	Moral behaviour is learnt. Moral 
standards vary from group to group 
depending upon what has been 
accepted by the group as a socially 
approved behaviour. True morality 
comes from within the individual. 
It is internal in nature and not im-
posed by external authority.
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47.	(D)	 Struggling with their identity is a 
behavioural trait in adolescents.
zz 	Adolescence is a critical stage of 
human development, marked by 
various behavioral traits due to 
hormonal, psychological and social 
changes.
zz 	One of the key developmental 
tasks during this period is identity 
formation, as described by psychol-
ogist Erik Erikson in his theory of 
psychosocial development. Adoles-
cents often explore different roles, 
beliefs and values to establish a 
sense of self.

48.	(A)	 Pedagogy is a broad range of teaching 
methodology, including assessment 
and instruction. 
zz 	It is the art and science of teaching. 
It includes various teaching meth-
ods, instructional strategies, assess-
ments and how teachers interact 
with students to facilitate learning. 
It is not just about lesson plans or 
learning activities but encompasses 
the entire educational process.
zz 	It involves different teaching meth-
odologies such as lecture-based 
learning, inquiry-based learning 
and experiential learning.
zz 	Instructional strategies, such as 
scaffolding and differentiation, are 
part of pedagogy.

49.	(B)	 ‘Maturation’ with reference to child 
growth is physical, psychological and 
adaptive changes in a child's growth.
zz 	 Maturation is the process by which 
we change, grow and develop 
throughout life.
zz 	Developmental psychologists look 
at many different types of matura-
tion throughout the lifespan. There 
are two main types of maturation:

Physical maturation:
zz Physical maturation occurs when 
our body grows and changes as 
we get older. A child goes through 
some very distinct physical maturity 
as they progress through all their 
developmental stages.          

Cognitive maturation:
zz Cognitive maturation is the process 
of development in the way we 
think as we grow. This refers to the 
cognitive development of children 
from birth to adulthood.
zz 	Maturation leads to the process in 
which a child develops, grows and 
changes throughout his/her entire 
life. It includes:

zz Physical Growth (e.g., height, 
weight, brain development)
zz Psychological Development (e.g., 
cognitive abilities, reasoning, 
problem-solving)
zz Adaptive Changes (e.g., ability 
to interact with the environment, 
self-regulation, emotional control)

50.	(D)	 ‘Phonology’ in Language, the devel-
opment of a child involves creating 
sounds in speech.
zz 	Phonology is the study of the 
sounds in a language and how 
they are organized, produced and 
understood. In a child's language 
development, phonology refers to 
their ability to recognize, produce 
and manipulate speech sounds 
(phonemes) as they learn to speak.
zz 	For example: A baby starts by 
cooing and babbling (e.g., "ba-ba" 
or "da-da"). Over time, they refine 
their pronunciation and learn the 
sound patterns of their native 
language.

51.	(D)	 A fire station can serve as a community 
resource in learning by providing 
educational opportunities about 
fire safety, emergency response, 
teamwork and public service. Schools 
often organize field trips to fire 
stations where students can learn from 
firefighters about fire prevention, first 
aid and disaster preparedness.
zz 	Community resources play a vital 
role in enriching and expanding 
learning experiences beyond the 
traditional classroom. They offer 
real-world connections, practical 
skills and diverse perspectives 
that can significantly enhance a 
student's education.

52.	(C)	 Hidden Curriculum is focused on 
the informal gaining of values and 
beliefs.
zz 	The term hidden curriculum 
refers to unofficial and informal 
instructional influences that may 
support the attainment of manifest 
goals. It is so-called because 
curricular inputs are not explicitly 
stated in the prescribed curriculum. 
But it forms part of the curriculum 
as it helps the learner achieve the 
educational goals envisaged. 
zz 	It can be a vehicle for moral 
growth. It can be a determining 
factor in national and emotional 
integration. 
zz 	The hidden curriculum is all those 
things that we teach in schools that 

aren’t written down in syllabus 
documents. 
zz 	According to Boostrom hidden cur-
riculum “refers to student learning 
that is not described by curriculum 
planners or teachers as an explicit 
aim of instruction even though it 
results from deliberate practices 
and organizational structures.” 

53.	(C)	 Among teachers and students emo-
tional relationship enhances learning.
zz 	A positive emotional relationship 
between teachers and students 
significantly enhances the learning 
process, fostering engagement, 
motivation and improved academic 
outcomes, as well as promoting 
emotional well-being and overall 
student development.

54.	(B)	 Experiential Learning is a learning 
process where students gain knowl-
edge and skills through direct expe-
rience, reflection and application. 
Experiential learning is hands on 
learning.
zz 	Experiential learning is the best 
method of learning.  It allows 
children to develop their own 
understanding and knowledge 
of the world based on their own 
experiences and reflections. It 
does not give importance to silent 
listening only.
zz 	Experiential learning involves 
learning by doing. This method 
engages learners in hands-on 
experiences, encouraging them 
to reflect, analyze and apply their 
knowledge in real-life situations. 
It enhances critical thinking, 
problem-solving and long-term 
retention of information.
zz 	Learners engage in real-world tasks 
rather than just reading or listening.
zz 	Experiential Learning is based on 
David Kolb's Experiential Learning 
Theory (ELT), which emphasizes 
learning through experience.

55.	(C)	 Use of A.V. Aids enhances learning 
in classrooms. 
zz 	Audiovisual aids are instructional 
devices in which the message can 
be heard and seen simultaneously. 
Examples: television, video films, 
documentary films etc.
zz 	Audiovisual aids can make the 
learning process more effective, 
interesting and realistic. They can 
also stimulate and motivate the 
learners, enhance their comprehen-
sion and develop their observation 
skills.
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56.	(D)	 Environment is an element of behav-
iorism. In Behaviorism, the environ-
ment plays a crucial role in shaping 
learning and behavior. 
zz 	Behaviorists believe that the envi-
ronment is the primary force that 
shapes behavior.
zz 	This theory, developed by B.F. 
Skinner and John Watson emphasize 
that learning occurs through stimuli, 
responses and reinforcement from 
the environment.

57.	(A) 	The purpose of the Curriculum in 
School is to standardize learning 
goals. 
zz 	Curriculum embodies all the 
experiences which are utilized by 
the school to attain the aims of 
education. 
zz 	Curriculum is a tool in the hands 
of an artist (teacher) to mould his 
materials (pupils) according to his 
ideals (objectives) in his studio 
(school). 
zz 	In short, the curriculum is a means 
of achieving the goals of education. 
It includes all those experiences, 
activities and environmental in-
fluences that the students receive 
during their educational career, 
for the realization of a variety of 
desired goals. 
zz 	Curriculum is the plan for guiding 
the educational process. Four 
important components of this plan 
are :
zz the objectives 
zz the content or learning materials 
zz teaching learning strategies and 
activities (transaction) 
zz Evaluation. 

58.	(D)	 The meaning of learning is positive 
altered behaviour.
zz 	Learning is defined as a relatively 
permanent change in behavior, 
knowledge, or skills due to experi-
ence or practice. It is not just about 
gaining knowledge but also about 
applying it in a way that leads to 
positive behavioral changes.
zz 	It is a development that comes from 
exercise and effort. Through learning,  
children acquire competence in 
using their hereditary resources.
zz 	The term learning covers every 
modification in behavior to meet 
environmental requirements.

59.	(C)	 When the child is directly exposed to 
life situations, the learning is called 
Experiential Learning.

zz 	Experiential learning is the best 
method of learning.  It allows 
children to develop their own 
understanding and knowledge 
of the world based on their own 
experiences and reflections. It 
does not give importance to silent 
listening only.
zz 	Experiential learning involves 
learning by doing. This method 
engages learners in hands-on 
experiences, encouraging them 
to reflect, analyze and apply their 
knowledge in real-life situations. It 
enhances critical thinking, problem-
solving and long-term retention of 
information.

60.	(A)	 By visiting a forest what the child 
will be able to develop self-exploring 
capacity.
zz 	When a child visits a forest, they 
engage in direct experiences with 
nature, which enhances their self-
exploration skills. 
zz 	They observe different plants, 
animals and natural phenomena, 
leading to curiosity, discovery and 
personal learning.

61.	(B)	 Spreading orthodoxies and supersti-
tions is not a function of education.
zz 	Education aims to develop critical 
thinking, scientific temperament and 
rationality. It should help eliminate 
superstitions and orthodox beliefs 
rather than promote them. 
zz 	A well-educated society moves 
towards progress, equality and 
innovation instead of clinging to 
outdated or irrational customs.
zz 	It is more concerned with the 
upbringing of a child to give him 
knowledge, skills, morals and 
values, by enriching his personality 
and by helping him in holistic 
development.

62.	(A, B and C)  
zz 	Dyslexia, dysgraphia and dyscalcu-
lia are all called learning disability.
zz 	Learning disabilities are not a one-
size-fits-all condition. There is a 
wide range of learning disabilities 
and individual experiences can 
vary greatly. Some common types 
of LDs include :

Dyslexia
zz 	A specific learning disability 
that affects reading and related 
language-based processing skills.  
The severity can differ in each 
individual but can affect reading 

f luency,  decoding ,  reading 
comprehension, recall, writing, 
spelling and sometimes speech and 
can exist along with other related 
disorders.

Dysgraphia
zz 	The term dysgraphia is taken from 
the Greek word (dys) meaning 
"bad" or "difficult" and (graphia) 
meaning "writing." Thus, "dys-
graphia" literally means "bad 
writing". It is also defined as a 
learning disability with impairment 
in written expression, that is the 
inability to write.

Dyscalculia
zz 	Dyscalculia is a specific learning 
disability that affects a person’s 
ability to understand numbers and 
learn maths facts. Individuals with 
this type of LD may also have poor 
comprehension of maths symbols, 
may struggle with memorising and 
organising numbers, have difficulty 
telling time or have trouble with 
counting.

Dyspraxia 
zz 	Dyspraxia is a condition that can 
be acquired or developmental. 
Children with dyspraxia often 
have difficulty organising their 
bodies to perform the tasks they 
want their bodies to do. They 
find motor planning challenging 
and struggle to perform fluid, 
smooth movements with finesse 
and control. 

Dysphoria 
zz 	Dysphoria is a psychological 
state that is often caused by or 
accompanies a mental health 
condition. Stress, grief, relationship 
difficulties and other environmental 
problems can also cause dysphoria. 

63.	(B)	 A community is considered an 
important teaching and learning 
center because it provides learning 
opportunities in real settings.
zz 	It provides a learning opportunity 
in real settings.
zz 	It ensures the maximum social 
development of learners.
zz 	It helps learners to be a part of the 
community and to interact with it.
zz 	It enables learners to be sensitized 
to different people and issues. 
zz 	It enlivens the class environment 
and encourages learners' active 
participation.
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64.	(D)	 The Ministry of Education (MOE) 
of India introduced the Manodarpan 
scheme.
zz 	The purpose of ‘Manodarpan’, 
the programme recently launched 
by the Ministry of Education, is 
to provide psychological support 
to the students for strong mental 
health.
zz 	‘Manodarpan’ is an initiative 
launched by the Ministry of 
Education, Government of India, 
under the Atmanirbhar Bharat 
Abhiyan. It aims to provide 
psychosocial support to students, 
teachers and families for mental 
well-being, especially in response to 
the stress caused by the COVID-19 
pandemic.
zz 	It provides:
zz A dedicated mental health helpline 
for students.
zz Online counseling services and 
resources.
zz Guidelines for stress management 
and emotional well-being.
zzWebinars and interactive sessions 
for students, teachers and parents.

65.	(A)	 Schizophrenia is considered a severe 
mental disorder. 
zz 	Schizophrenia is a chronic and 
severe mental disorder that affects 
a person's ability to think, feel and 
behave clearly.
zz 	It's a complex, long-term medical 
illness.
zz 	It affects a person's thinking, 
emotions and behavior. It can 
cause hallucinations, delusions, 
disorganized speech and impaired 
cognitive function. It significantly 
disrupts reality perception and 
functioning,
zz 	It significantly impacts daily 
life and often requires long-term 
treatment, including medication 
and therapy.

66.	(C)	 The common mental disorder 
among children in school is anxiety 
disorders.
zz 	Many students experience academic  
pressure, social anxiety, separation 
anxiety and generalized anxiety, 
which can affect their performance, 
concentration and emotional well-
being.
zz 	Sensory disorder – Related to 
difficulties in processing sensory 
information, but not the most 
common.

zz 	Social disorder – Could refer to 
social communication challenges, 
but anxiety is more prevalent.
zz 	Behavioural disorder – Includes 
ADHD and conduct disorders, but 
anxiety is more widespread.

67.	(A)	 The root causes of mental illness 
among school children are Heredity 
and Psychological stress.
zz 	Genetic factors can make children 
more vulnerable to conditions like 
anxiety, depression and ADHD, 
while stress from academics, 
social pressures and personal 
experiences can trigger or worsen 
these conditions.
zz 	If a child has a family history of 
mental health issues, they may 
be more vulnerable to developing 
similar conditions, especially when 
combined with external stressors.
zz 	Some mental health conditions, 
such as depression, anxiety, ADHD 
and schizophrenia, have a genetic 
component.
zz 	Psychological stress from academic 
pressure, bullying, family issues, or 
traumatic experiences can trigger or 
worsen mental illness.

68.	(B)	 For Divyangjan (persons with 
disabilities), the first and most 
important step in intervention is to 
assess and assist.
zz 	It means assessing their needs and 
providing appropriate assistance. 
zz 	This includes identifying their 
specific challenges, strengths and 
required support systems. 
zz 	Assessment helps in planning 
individualized interventions such 
as assistive technology, therapy or 
educational accommodations.

69.	(C)	 Intellectual disability in a classroom 
setting is primarily identified by poor 
comprehension.
zz 	Students with intellectual disabili-
ties often struggle with reasoning, 
problem-solving and learning new 
concepts at the expected pace for 
their age.
zz 	With Poor Comprehension students:
zz Struggles to understand lessons, 
instructions, or new concepts.
zz Difficulty in remembering infor-
mation and applying learned skills.
zz Trouble with problem-solving and 
logical thinking.

70.	(A and D) 
zz Schools can address mild mental 
health issues by integrating Social 
Emotional Learning (SEL) and 
counselling. 
zz Schools can effectively address 
mild mental health issues in 
students by integrating Social-
Emotional Learning (SEL) into the 
curriculum and providing access 
to school counseling services, 
fostering a supportive environment 
for emotional well-being and 
development.
zz Social emotional learning (SEL) is a 
methodology that helps students of 
all ages to better comprehend their 
emotions, to feel those emotions 
fully and demonstrate empathy for 
others. These learned behaviors are 
then used to help students make 
positive, responsible decisions; 
create frameworks to achieve 
their goals and build positive 
relationships with others.
zz Social Emotional Learning (SEL) 
helps students develop:
zz Self-awareness (understanding 
emotions)
zz Self-regulation (managing stress 
and emotions)
zz Social skills (building positive 
relationships)
zz Responsible decision-making

71.	(A)	 The role of the Parent in addressing 
mental health issues among children 
is that parents spend quality time 
with adolescents, enjoying shared 
activities. Parents play an important 
role in the psychosocial care of their 
children. Parents can significantly 
contribute to their children's mental 
health by prioritizing quality time, 
engaging in shared activities and 
creating a supportive and nurturing 
environment, which fosters a sense 
of security and stability.

72.	(B)	 Learning space in school means 
a well-set classroom with a non-
threatening environment.
zz 	A learning space in school refers 
to an environment that supports 
effective learning, where students 
fee l  safe ,  comfor tab le  and 
encouraged to participate. 
zz 	A non-threatening environment 
helps reduce anxiety, enhances 
engagemen t  and  p romo te s 
creativity and critical thinking.
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73.	(D)	 The main professional responsibility 
of a headmaster, apart from adminis-
tration, is teaching. 
zz 	A Headmaster is an organizer, 
leader, governor, director, guide and 
coordinator of school programs. 
Schools become great, not because 
of the magnificent buildings but 
because of the effective and 
efficient Headmasters. 
zz 	A headmaster in a school is like 
a spring in the watch, a wheel in 
the machine and an engine in the 
steamship.

74.	(C)	 A school's vision and philosophy 
are typically reflected in the school 
development plan.
zz 	A school development plan is a 
long-term plan aimed at improving 
teaching and learning at the school. 
The plan exhibits and highlights the 
main components that the school 
wants to improve and how those 
improvements are to be achieved. 
The plan should be developed by 
the teachers, parents, community 
members and managers and usually 
covers a period of about three years. 
zz 	A school development plan usually 
includes the following parts and 
information: 
zz Background - a short description of 
the school and its mission. 
zz School Analysis - an analysis of 
strengths, weaknesses and chal-
lenges.
zz Priorities, based on the school 
analysis.  
zz Summary of two to three-year plans 
for developing the school. 
zz Action Plan for the coming year 
zzMonitoring and evaluation Plan. 

75.	(A)	 A leader should be an inspiration and 
a director.
zz A leader must have certain qualities-
zz Honesty
zz Good Communication
zz Confidence 
zz Commitment
zz Positive attitude
zz Creativity
zz Empathy
zz Accountability
zz Enthusiastic 
zz Responsible 
zz Focus and drive

76.	(D)	 The Headmaster, to make proper 
planning, will take the help of Pupils, 
teachers and parents.
zz Pupils :  They are  the  main 
beneficiaries of education. Their 
feedback helps in shaping policies 
related to academics, extracurricular 
activities and school facilities.
zz Teachers: They implement the 
educational plans and directly 
interact with students. Their input 
is crucial for curriculum planning, 
teaching methodologies and school 
discipline.
zz Parents: They play a key role in a 
child’s education and can provide 
valuable suggestions regarding 
school policies, infrastructure and 
overall development.

77.	(C) 	The foremost important quality of a 
school leader is conviction.
zz 	He must have strong belief, 
confidence and commitment to 
their vision and educational values. 
A leader with conviction:
zz Stands firm on principles and 
educational goals.
zz Inspires teachers, students and staff 
through determination and clarity.
zz Leads with confidence, ensuring 
discipline, motivation and progress.
zz Handles challenges with resilience 
and a strong sense of purpose.

78.	(A)	 As per the Idea of Transformational 
Leadership, an effective leader should 
motivate and inspire people. 
zz 	Transformational leadership drives 
innovation and achieves long-term 
goals. 
zz 	T h e  f o u r  c o m p o n e n t s  o f 
transformational leadership are:
zz Idealized influence. Leaders act 
as role models, inspiring trust and 
respect.
zz Inspirational motivation. Leaders 
provide a compelling vision and 
motivate followers to work toward 
shared goals.
zz Intellectual stimulation. Leaders 
encourage innovation, critical 
thinking and problem-solving.
zz Individualized consideration. Lead-
ers provide personalized support 
and mentorship to each team.

79.	(B)	 Inspiring others is the most essential 
quality of a leader.
zz 	When a leader inspires, students 
feel empowered to explore their 
potential.

zz 	An inspiring leader makes learning 
enjoyable and meaningful, helping 
students stay engaged.
zz 	Students respond best to leaders 
who motivate, encourage and 
spark enthusiasm for learning and 
personal growth.

80.	(C)	 Lack of self-confidence is not a 
quality of a leader. A leader must 
have confidence to guide, inspire and 
make decisions effectively. Lack of 
self-confidence can lead to:
zz Uncertainty in decision-making can 
confuse and demotivate students 
and team members.
zz Difficulty in inspiring others, as 
leaders need to project belief in 
their vision.
zz Reduced trust and respect from 
students, teachers, or followers.

81.	(D)	 As an academician, the headmaster 
plays a crucial role in both academic 
and administrative leadership. 
zz 	Their primary responsibility is to 
ensure quality education, effective 
teaching methods and the smooth 
functioning of the school. 
zz 	Key Responsibilities as an Academic 
Leader are:
zz Curriculum Development – En-
suring that the curriculum meets 
educational standards and student 
needs.
zz Teacher Guidance – Mentoring and  
providing professional development 
opportunities for teachers.
zz Student Performance – Monitoring  
and improving student learning 
outcomes.
zz Creating a Positive Learning 
Environment – Encouraging inno-
vation and maintaining discipline.

82.	(C)	 The key phrase of Pace-setter lead-
ership is "Let's dream big and set 
standards".
zz 	Pacesetting leadership is a goal-
oriented leadership style. 
zz 	Pace-setter leadership is a leadership  
style where the leader sets high 
performance standards and leads 
by example. 
zz 	The leader demonstrates excellence 
and expects others to follow.
zz Focus is on high-speed execution 
and efficiency.
zz Emphasis is on performance and 
results, often pushing the team to 
meet high expectations.
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83.	(B)	 The leadership style that exercises 
the minimum control is laissez-faire 
leadership.
zz The Laissez-Faire leadership is 
also known as free-reign leader-
ship, where the decision-making 
power is completely left with the 
subordinates. 
zz In this style, the leader's involvement 
in making decisions is minimized 
and the people are allowed to make 
their own decisions. 
zz 	The group members are given 
complete freedom in setting 
their own goals and achieving 
them, which gives them complete 
autonomy. 
zz 	Employees under this leader tend 
to become self-sufficient and 
guidance is not offered by leaders 
unless requested.

84.	(A)	 According to NEP 2020, "Balvatika" 
refers to "Education received from 
age 3-5 years".
zz The Balvatika programme is 
envisaged as a one-year programme 
before Grade 1, which is meant to 
prepare children with cognitive and 
linguistic Competencies that are 
prerequisites for learning to read, 
write and develop number sense 
through a play-based approach.
zz NCERT has developed guidelines 
and processes for three years of 
preschool, including the Balvatika.
zz It is also known as “Preparatory 
Class”  (that is, before Class 1), 
which has an ECCE-qualified 
teacher. 
zz The learning in the Preparatory 
Class shall be based primarily on 
play-based learning with a focus 
on developing cognitive, affective 
and psychomotor abilities and 
early literacy and numeracy. The 
mid-day meal programme shall 
also be extended to the Preparatory 
Classes in primary schools. Health 
check-ups and growth monitoring 
that are available in the Anganwadi 
system shall also be made available 
to Preparatory Class students of 
Anganwadi as well as of primary 
schools.

85.	(B)	 Spenser described education as 
complete living.
zz According to him, the ultimate goal 
of education is to equip individuals 
with the knowledge and skills 
necessary for all aspects of life, 
including:

zz Self-preservation (health and sur-
vival)
zz 	Earning a livelihood (economic 
skills)
zz 	Raising a family (social and emo-
tional development)
zz 	Civic duties (responsible citizen-
ship)
zz 	Intellectual and moral growth

86.	(C)	 Article 350(A) of the Indian 
Constitution directs the state and 
local authorities to provide primary 
education in the mother tongue of 
children belonging to linguistic 
minority groups. 
zz This ensures that students can learn 
effectively in their native language 
during their early education years.
zz It shall be the endeavour of every 
State and of every local authority 
within the State to provide adequate 
facilities for instruction in the 
mother-tongue at the primary 
stage of education to children 
belonging to linguistic minority 
groups; and the President may 
issue such directions to any State 
as he considers necessary or proper 
for securing the provision of such 
facilities.
zz Article 29 – Protects the cultural 
and educational rights of minorities 
but does not specifically mandate 
education in the mother tongue.
zz Article 510 – There is no such 
article in the Indian Constitution.
zz Article 239 – Deals with the 
administration of Union Territories, 
not education.

87.	(B)	 The DIKSHA Programme by the 
Ministry of Education is about Digital 
Infrastructure Resources.
zz DIKSHA (Digital Infrastructure for 
Knowledge Sharing) is an initiative 
by the Ministry of Education, 
Government of India, aimed at 
providing digital learning resources 
for teachers and students.
zz It offers e-learning content, training 
modules, lesson plans and assess-
ments for school education.
zz It helps teachers improve their 
skills and supports students with 
digital educational materials.
zz Accessible via the DIKSHA portal 
and mobile app, making education 
more inclusive and technology-
driven.

88.	(A)	 NEP 2020 mainly emphasized 
Foundational Literacy and numeracy 
in primary Education.
zz It aims to ensure that every child 
can read with comprehension 
and perform basic mathematical 
operations by Grade 3.
zz Focus Areas of FLN in NEP 2020:
zz 	Developing Basic Reading & 
Writing Skills
zz 	Building Strong Numeracy Skills 
(Basic Arithmetic & Problem 
Solving)
zz 	Using Play-Based and Activity-
Based Learning
zz 	Multilingual Approach (Teaching 
in Mother Tongue/Regional 
Language in Early Years)
zz 	Assessment-Continuous Monitoring
zz FLN is considered the foundation 
of lifelong learning and is essential 
to prevent learning gaps in later 
years.

89.	(C)	 Informal education refers to "Educa-
tion gained through various sources 
in life". Unlike formal education in 
schools, informal education happens 
naturally through everyday experi-
ences, interactions and activities, not 
within a structured learning environ-
ment. 
zz It is a general term for education 
outside of a standard school setting.
zz It is the wise, respectful and 
spontaneous process of cultivating 
learning.
zz It works through conversation, 
exploration and enlargement of 
experience.
zz It provides unconscious learning.

90.	(B)	 NEP, 2020, modified the Education 
Pattern in school as 5 + 3 + 3 + 4.
zz 5+3+3+4 curricular structure 
corresponding to ages 3-8, 8-11, 11-
14 and 14-18 years, respectively.
zz The 5+3+3+4 structure has four 
stages:
zz Foundational Stage: 5 years, in-
cluding 3 years of pre-primary and 
grades 1–2 
zz 	Preparatory Stage: 3 years, in-
cluding grades 3–5 
zz 	Middle Stage: 3 years, including 
grades 6–8 
zz 	Secondary Stage: 4 years, includ-
ing grades 9–12 
zz This new structure aims to provide 
a more holistic, flexible and 
multidisciplinary approach to 
education in India.
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91.	(D)	 The full form of ECCE is Early 
Childhood Care and Education.
zz The  ECCE program needs 
to be determined by children’s 
developmental and contextual 
needs, providing for more need-
based inputs and an enabling 
environment.
zz It was believed that a common 
‘curriculum’ would not be appro-
priate for all.
zz It comprises details of the goals for 
different domains of development, 
i.e., physical, language, cognitive, 
socio-emotional, creative and 
aesthetic appreciation, to be fostered 
to ensure holistic development of 
children under six years.

92.	(C)	 The National Curriculum Framework 
(NCF) 2005 was prepared by the 
National Council of Educational 
Research and Training (NCERT).
zz The guiding principles of NCF, 
2005, focus on connecting knowl-
edge to life outside the school, 
ensuring that learning shifts away 
from rote methods, enriching the 
curriculum so that it goes beyond 
textbooks and making examina-
tions more flexible and integrating 
them with classroom life.
zz Guiding principles of NCF 2005:
zz 	connecting knowledge to life 
outside the school, 
zz 	ensuring that learning is shifted 
away from rote methods, 
zz 	enriching the curriculum to provide 
for the overall development of 
children rather than remaining 
textbook-centric, 
zz 	making examinations more flexible 
and integrated into classroom life 
and, 
zz 	nurturing an over-riding identity 
informed by caring concerns 
within the democratic polity of the 
country.

93.	(B)	 The Right to Education (RTE) Act, 
2009 came into force on 1st April 
2010. 
zz The Right of Children to Free and 
Compulsory Education Act or 
Right to Education Act (RTE), is 
an Act of the Parliament of India 
enacted on 4 August 2009, which 
describes the modalities of the 
importance of free and compulsory 
education for children between 6 
and 14 in India under Article 21a 
of the Indian Constitution. 

zz Key Features of the RTE Act, 2009:
zz Provides free and compulsory 
education to children aged 6 to 14 
years in India.
zz 	Mandates 25% reservation for 
disadvantaged children in private 
schools.
zz 	Prohibits capitation fees, interviews 
and screening procedures for school 
admission.
zz 	Ensures infrastructure, teacher 
qualifications and student-teacher 
ratios in schools.
zz 	Focuses on child-friendly education 
and inclusive learning.
zz 	This law made education a 
fundamental right under Article 
21A of the Indian Constitution.

94.	(A)	 The word NEP stands for National 
Education Policy. The National 
Education Policy (NEP) of 2020 
was introduced as a transformative 
framework aimed at revamping 
India's education system. Replacing 
the 34-year-old NEP of 1986, it 
focused on bridging gaps in quality, 
equity and access to education at 
all levels. This National Education 
Policy 2020 is the first education 
policy of the 21st century and 
aims to address the many growing 
developmental imperatives of our 
country. 
zz Key Highlights of NEP 2020:
zz 	Introduced the 5+3+3+4 school 
structure.
zz Focuses on multidisciplinary learn-
ing and flexibility in subject choices.
zz 	Promotes mother tongue/regional 
language as the medium of instruc-
tion up to Grade 5.
zz 	Emphasizes experiential learning, 
coding and vocational training from 
an early stage.
zz 	Higher education reforms with 
multiple entry-exit options and a 
credit-based system.
zz 	NEP 2020 aims to transform 
education in India to be holistic, 
flexible and aligned with global 
standards.

95.	(D)	 The Right to Education Act (RTE) 
of 2009 prescribes a minimum of 45 
hours per week for teachers. 
zz The Right of Children to Free and 
Compulsory Education Act or 
Right to Education Act (RTE), is 
an Act of the Parliament of India 
enacted on 4 August 2009, which 

describes the modalities of the 
importance of free and compulsory 
education for children between 6 
and 14 in India under Article 21a 
of the Indian Constitution. 
zz India became one of 135 countries 
to make education a fundamental 
right of every child when the Act 
came into force on 1 April 2010.
zz 	Teacher Responsibilities Under 
RTE.
zz 	Maintain regularity and punctuality 
in attending school.
zz 	Ensure completion of the curriculum  
in a given timeframe.
zz 	Assess students’ learning outcomes 
and provide extra help if needed.
zz 	Conduct remedial teaching for 
students who need additional 
support.
zz 	Engage with parents and communi-
ties for better education outcomes.

96.	(A)	 As per the RTE Act 2009, no detention 
Policy is up to the 8th Class.
zz This means all children from Class 
1 to Class 8 must be promoted to 
the next grade, regardless of their 
academic performance.
zz Reason for No Detention Policy 
(NDP):
zz To reduce dropouts and ensure 
uninterrupted learning.
zz To promote a stress-free education 
system.
zz To focus on continuous and compre-
hensive evaluation (CCE) instead  
of traditional pass/fail exams.

97.	(B) 	The absence of professional counselors  
in schools can lead to increasing 
mental health issues among children 
because:
zz Children may struggle with stress, 
anxiety and depression without 
proper guidance.
zzWithout counseling, students facing 
bullying or peer pressure may feel 
isolated and helpless.
zzMany students experience perfor-
mance anxiety and exam stress, 
which can impact their mental 
well-being.
zzWithout guidance, students may 
feel lost about career choices, 
leading to frustration and low 
confidence.
zz Emotional distress can lead to anger 
issues, aggression, or withdrawal 
from social activities.
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98.	(C)	 NEP 2020 mainly emphasized 
Foundational Literacy and numeracy 
in primary Education.
zz 	It aims to ensure that every child 
can read with comprehension 
and perform basic mathematical 
operations by Grade 3.

Focus Areas of FLN in NEP 2020 :
zz 	Developing Basic Reading & 
Writing Skills
zz 	Building Strong Numeracy Skills 
(Basic Arithmetic & Problem 
Solving)
zz 	Using Play-Based and Activity-
Based Learning
zz 	Multilingual Approach (Teaching 
in Mother Tongue/Regional 
Language in Early Years)
zz 	Assessment & Continuous Moni-
toring
zz FLN is considered the foundation 
of lifelong learning and is essential 
to prevent learning gaps in later 
years.

99.	(D)	 Section 21 deals with the formation 
of a School Management Committee 
(SMC) in government and government 
-aided schools.
zz SMC represents the management 
body of the school, which is 
responsible for implementing 
education policies in the school. 
zz The SMC is responsible for 
monitoring the school’s functioning 
and ensuring quality education.
zz The School Management Committee  
(SMC) ensures accountability, 
transparency and active community 
involvement in the education 
system.
zz It prepares the School Development 
Plan (SDP).
zz It monitors the utilization of 
government grants and school 
funds.
zz It oversees teacher attendance and 
student learning outcomes.
zz It encourages community partici-
pation in school activities.

100.	(A)	 As per Section 10 of the Right to 
Education (RTE) Act, 2009, it is the 
responsibility of parents or guardians 
to ensure that their child receives 
elementary education (Classes 1 to 
8).
zz The Act makes education free 
and compulsory for children aged 
6 to 14 years, but parents must 
ensure their children attend school 
regularly.

zz Parents are expected to actively 
participate in their child’s education.
zz School Management Committees 
(SMCs), as per Section 21, also in-
volve parents in school governance.
zz This provision ensures universal 
elementary education and reduces 
dropout rates.

101.	(D)	 fodYi (D) o.kZ vkSj mPpkj.k LFkku dh 
n`f"V ls vlaxr gSA ^l* o.kZ dk mPpkj.k 
LFkku ^nUR;* gksrk gSA ;g o.kZ nk¡r vkSj 
thHk ds Li'kZ ls cksyk tkrk gSA

102.	(A)	 mi;qZDr okD; ds fjDr LFkku esa ̂ t~ $ ́ k^ 
vk,xkA ^K* 'kCn ^t~ $ ´k^ ds la;ksx ls 
curk gSA la;qDr O;atu pkj gksrs gaSµ

			   l	 d~ $ "k ¾ {k
			   l	 r~ $ j ¾ =
			   l	 t~ $ ´k ¾ K
			   l	 'k~ $ j ¾ J

103.	(D)	 fodYi (D) esa fn;k x;k ;qXe laKk dh n`f"V 
ls vlaxr gSA ̂ 'khryrk* 'kCn esa Hkkookpd 
laKk gksxhA ftu 'kCnksa ls O;fDr vkSj 
inkFkks± ds /keZ] LoHkko] xq.k] nks"k] voLFkk 
vkfn dk cks/k gksrk gS] mls Hkkookpd laKk 
dgrs gSa_ tSls ekr`Ro] lykg] dkseyrk 
vkfnA

104.	(C)	 okD; esa js[kkafdr 'kCn ^og* lkoZukfed 
fo'ks"k.k gSA ^tks loZuke laKk ds LFkku ij 
vkus ds ctk; laKk ds igys yxdj mldh 
fo'ks"krk crkrs gSa] mUgsa lkoZukfed fo'ks"k.k 
dgrs gSaA

105.	(A)	 fodYi (A) iSalBµ56 la[;k dh n`f"V ls 
vlaxr ;qXe gSA lgh ;qXe gksxkµ 65*A

106.	(B)	 loZuke dh n`f"V ls fodYi (B) vlaxr 
gSA ftu loZuke 'kCnksa dk ç;ksx ,d 'kCn 
;k okD;ka'k dk nwljs 'kCn ;k okD;ka'k ls 
lEcU/k çdV djus ds fy, fd;k tkrk gS] 
mUgsa lEcU/k okpd loZuke dgrs gSaA ftls] 
tSlk&oSlk] ftldks&mldks* lEcU/k okpd 
loZuke gSaA

107.	(D)	 j s[kk a fdr 'kCn ^vf/kd* vfuf'pr 
la[;kokpd fo'ks"k.k gSA ̂ tks fo'ks"k.k la[;k 
;k loZuke dh fuf'pr la[;k dk cks/k u 
djkdj ,d vLi"V vuqeku çLrqr djrs 
gSa] mUgsa vfuf'pr la[;kokpd fo'ks"k.k 
dgrs gSa_ tSls&dqN] FkksM+s] vf/kd] de] 
dkQh bR;kfnA

108.	(A)	 okD; esa js[kkafdr 'kCn ^vk;k gksxk* esa 
fØ;k incU/k gSA fØ;k dk dke djus okyk 
inlewg fØ;k incU/k dgykrk gSA

109.	(D)	 fodYi (D) esa fn;k x;k ;qXe ̂ lsB&lsBkbu* 
fyax dh n`f"V ls vlaxr ;qXe gSA lgh ;qXe 
gksxkµ ^lsB&lsBkuh*A

110.	(B)	 fodYi (B) esa fn;k x;k 'kCn ^njh* 
L=hfyax 'kCn gSA njh 'kCn dk vFkZ gSA 
eksVs lwr dk cquk gqvk fcNkSukA

111.	(D)	 fodYi (D) esa fn;k x;k ;qXe vlaxr gSA 
opu dk lgh ;qXe gksxkµ ̂ >kM+h&>kfM+;k¡*A

112.	(C)	 fn, x, okD; esa vf/kdj.k dj.k dkjd 
gSA vr% ;gh vlaxr gSA

113.	(C)	 fodYi (C) esa fn, x, ;qXe esa ^dkfeuh 
'kCn ̂ iRuh* dk i;kZ;okph ugha gSA ̂ dkfeuh* 
'kCn ukjh dk i;kZ;okph gSA dkfeuh ds 
vU; i;kZ;okph gSaµ vkSjr] efgyk] je.kh] 
ofurk vkfnA

114.	(C)	 fodYi (C) foykse 'kCn dh n`f"V ls 
vlaxr ;qXe gSA ikjaifjd dk foykse 'kCn 
vikjaifjd gksxkA

115.	(D)	 fodYi (D) eqgkojk vkSj mlds vFkZ 
dh n`f"V ls vlaxr ;qXe gSA fn;k rys 
v¡èksjk&eqgkojs dk lgh vFkZ gksxk&viuh 
cqjkbZ fn[kkbZ u nsukA okD; ç;ksxµ ekLVj 
lkgc nwljksa ds cPpksa dks rks [kwc i<+krs gSa 
fdUrq [kqn ds csVs dks dqN ugha vkrkA

116.	(C)	 mi;qZDr okD;ka'k ̂ fjef>e* ikB~;iqLrd ds 
^frryh vkSj dyh* ikB ls gSA bl dfork 
esa frryh dyh ls vkdj dgrh gS fd rqe 
cgqr lqUnj yx jgh gks vc rqe tkxks] 
viuh vk¡[kas [kksyks vkSj gekjs lax [ksyksA

117.	(A)	 ^ulh#n~nhu vkSj teky lkgc ^fjef>e* 
iqLrd ds nksLr dh iks'kkd* ikB ds pfj= 
gSaA bl ikB esa nksuksa iqjkus nksLr gSaA

118.	(C)	 ^jk[k dh jLlh* ikB ds vk/kkj ij dgk tk 
ldrk gS fd yksuiks xkj frCcr ds cÙkhlosa 
jktk lkSuxolSu xkaiks ds ea=h FksA yksuiks 
xkj viuh pkykdh rFkk gkftj tokch ds 
fy, çfl¼ FksA

119.	(A)	 gyhe dks pk¡n ij [kwc lkjs xM~<s vkSj 
cM+s&cMs+ igkM+ fn[ksA ysfdu ogk¡ dksbZ isM+ 
;k tkuoj ugha FksA

120.	(D)	 /kuh eu gh eu blfy, cM+cM+k;k D;ksafd 
vkJe esa cu jgh ;kstuk ds ckjs esa dksbZ 
mldks dqN ugha crkrk FkkA vr% fodYi 
(D) lgh gSA

121.	(D)	 The underlined word 'Today' used in 
the sentence is an Adverb of time. 
Such words (Adverb of times) are 
used at the beginning or end of a 
sentence e. g.
zz He is working now. Eventually, it 
stopped raining.
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122.	(C)	 The underlined word 'to' is a prepo-
sition. Indebted to somebody means- 
extremely grateful to someone. 
Hence option (C) is correct.

123.	(D)	 The use of 'at' in the blank space is 
appropriate.
zz  Audacity means- courage or 
confidence of a kind that other 
people find shocking or rude

124.	(A)	 The use of without in the blank space 
is appropriate. Without - not having 
or doing something, or lacking 
something.

125.	(B)	 The given sentence is in Present 
Perfect Tense. Its structure will be  as 
follows-
zz  [sub + has/have + V3 + obj.]
zz  Ram has always helped me

126.	(B) 	The given  Active voice is of Present 
Continuous Tense. Its Passive Voice 
Structure will be as follows : 
zz [sub + has/have + V + other words] 
zz  A note for the meeting has been 
written by me. 

127.	(C)	 The given active voice is of Simple 
Future Tense. Its passive structure 
will be as follows- [sub + shell/will 
+ be + V3 + other words]
zz  At last, he will be overpowered 
with feelings at guilt.

128.	(D)	 The given direct speech is in Present 
perfect tense. To change it into 
indirect speech, the following 
changes have to be made-

			   told advised
			   “........"- that(connective)

zz pronoun according to the rules of 
SON
zz present perfect tense - past perfect 
tense 
zz The king advised the jester that he 
had often warned him not to crack 
old jokes.

129.	(C) I would be used instead of would I 
because the sentence is in indirect 
speech. To make the interrogative 
clause is changed into an assertive 
clause. Hence, option (C) is correct. 

130.	(C) The synonym of the word 'Universal' 
is Global
zz Universal - existing everywhere or 
involving everyone
zz Admirable - deserving respect or 
approval
zz Particular - Special person, thing, 
time, etc.
zz Versatile - Having great diversity 
or variety

So option (C) is correct.

131.	(C) The synonym of the word 'Tremendous' 
is Colossal.
zz Tremendous - great in amount, size, 
or degree; extremely large
zz Petite (used for a girl or woman), 
attractively small or thin.
zz Tiny - extremely  small
zz Troublesome - causing a lot of 
problems for someone

132.	(C)	 The opposite word of Admant is- 
Unsure
zz Admant : Firm, steadfast in one's 
opinion
zz Unsure : lack of self-confidence
zz Additional : extra, further or added 
zz Tenacious : holding tightly onto 
something, or keeping an opinion 
in a determined way
zz Overhead : above your head, 
usually in the sky

So, option (C) is correct.
133.	(A)	 The opposite word of Hoisted is 

Lowered.
zz Hoisted - Usually pulling an object 
up with the help of a rope etc.
zz Lowered - Lower, smaller

Hence, option (A) is correct.
134.	(B)	 On rearranging the given parts, the 

correct sequence will be - cbad 
zz The lake offers facilities for rowing 
as well as fishing.

135.	(C)	 If the given parts are rearranged then 
the correct sequence will be - dcba
zz Do consider this option and put it 
before Daddy.

136.	(A)	 According to the passage Mohan 
came to know selvi’s family as a well-
wisher. See the line, of the second 
Paragraph-  thereafter Mohan of the 
family. 

137.	(C)	 On the perusal of the given passage, 
it can be concluded that he was 
attracted to music. See the last 
paragraph of the passage. 

138.	(A)	 According to the passage, rumour was 
that Selvi was born to rich parents. 
See the first para of the passage.

139.	(C)	 Both (a) and (b) are right. see the last 
lines of the second paragraph of the 
passage.

140.	(B)	 The word 'Benign Gods' means a 
person who is of a generous or gentle 
nature [Kind or gentle, pleasant and 
kind not harmful or severe]. Hence 
option (B) is correct.

141.	(D) The fruit is a mature ovary. Because 
it contains already fertilized seeds. 
Inside the ovary there are one or more 
ovules. Where the megagametophyte 
contains the megagametes or egg 
cells. The ovule is formed by a process 
called pollination. In this process the 
pollen grains are transmitted from the 
stamen of the flower to the stigma.

142.	(A) Some statements are given regarding 
wind. Out of these b is correct, a 
and c are wrong. Wind in motion is 
not called wind, but air in motion 
is called wind. And wind does not 
move from low air pressure area to 
high air pressure area, but from high 
air pressure area to low air pressure 
area and the larger the difference 
between the pressures, the faster the 
wind will move from high pressure 
to low pressure.

143.	(C) Pitcher plants are heterotrophs because 
they do not get nitrogen from the soil.
zz Pitcher plants grow in swamps or 
marshy areas where the soil lacks 
nitrogen minerals. Therefore, they 
trap insects and obtain nitrogen 
by using their proteins to fulfill 
their nitrogen requirement. Pitcher 
plants are also called Nepenthes.

144.	(D) Male Elephant is an animal that leaves 
its herd after the age of 14 to 15 years 
and starts living alone.
zz Only the females and children live 
in a herd of elephants. The most 
powerful female elephant of the 
herd is the leader of the entire herd. 
A herd consists of 10 to 12 female 
elephants and children. Elephants 
are generally found in tropical 
habitats.

145.	(A) In the given question, there are both 
Assertion (A) and Reason (R) and R 
is also the correct explanation of A.
zzMost of the water that plants get 
is from rain, which is clean and 
chemical free. Rain water contains 
the highest level of oxygen, which 
is very beneficial for plants, due 
to which plants bloom. Water is 
very essential for the growth and 
development of flowers, fruits 
and seeds of plants. In its absence, 
plants wilt .

146.	(B) The correct match of the given 
question is as follows.
zz (i)-(b), (ii)-(a), (ii)-(d), (iv)-(c)
zz Lithos is a Greek word which 
means 'stone'. Similarly, Huder is 
also derived from the Greek word 
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'Hudor' which means water. Bios 
means life. And Atmos means 
vapor.

147.	(B)	 In the given question, both Assertion 
A and Reason (R) are correct and (R) 
is the correct explanation of (A).
zz Some microorganisms cause dis-
eases in humans, animals and 
plants, i.e. such disease causing 
microorganisms are called germs or 
pathogens. Those organisms which 
humans cannot see with naked eyes 
and need a microscope to see them 
are called microorganisms. All 
bacteria, all protozoa, some fungi, 
algae and rotifers etc. come under 
microorganisms. 

148.	(B) All animals including human beings 
are unable to prepare food and 
human beings get their food from 
plants or animals or both. Thus, both 
Assertion (A) and Reason (R) are 
correct but neither of them explains 
the explanation. Plants can prepare 
food for themselves but no animal 
including human beings can prepare 
their own food. Hence, human beings 
and other animals depend on plants 
directly or indirectly.

149.	(D) In the given question, Statement I is 
wrong but Statement II is correct i.e. 
Statement I says that diarrhoea is not 
a fatal disease which is completely 
wrong while Statement II says 
that diarrhoea causes loss of water 
and salts from the body which is 
completely correct.
zz Diarrhoea is also known as loose 
motions. It is an illness that makes 
you pass looser or more stools 
than normal. This is a result of 
gastroenteritis infection which is 
also called inflammation of the 
stomach or intestine or stomach flu.

150.	(A) Mosquitoes find humans by their 
body odor. Usually we have seen 
that mosquitoes always roam around 
humans. The reason for this is that 
when a human breathes, he releases 
carbon dioxide gas. Attracted by this 
carbon dioxide gas, mosquitoes start 
hovering over our heads and the other 
main reason is also the foul smell 
coming from sweat which attracts 
them.

151.	(D) In the question, statements related to 
the Changpa tribe have been given, 
out of which statements (a), (b) and 
(d) are correct.
zz The Changpa are nomadic people 
+and goats are their biggest wealth. 

The Changpa tribe is a nomadic 
community that resides in the 
Changthang area of Ladakh region 
of the Indian state of Jammu and 
Kashmir. The Changpa tribe prefers 
a nomadic life. The main basis 
of their livelihood is cattle and 
Pashmina goats from which the 
world famous Pashmina wool is 
obtained. But the statement that 
this is a tribe that always stays at 
one place is wrong.

152.	(D)	 In the given question, statements 
(a), (c) and (d) are correct, we learn 
a lot from each other in the family. 
Because teaching moral and religious 
values has been the general duty of the 
family. Through the family, children 
get acquainted with the moral and 
spiritual thoughts prevalent in that 
family which are very helpful in the 
development of their personality. 
Along with the members in the 
family, some animals also live, which 
are called pets. These pets play 
an important role in fulfilling the 
needs of a family, whether the needs 
are daily, consumption related or 
economic. Some animals live in our 
house even without our permission.
zz But the statement that it is a custom 
of the house to enter the house only 
after removing the shoes outside 
is wrong.

153.	(A)	 Oceans are interconnected, waves, 
tides and ocean currents are the three 
main movements of ocean water, 
ocean water does not move only 
during the new moon and full moon. 
This is true in the context of oceans, 
while the largest ocean in size is 
the Pacific Ocean, not the Atlantic 
Ocean. Therefore, options A and C 
are correct and B and D are wrong.

154.	(D)	 In the given question, options (c) and 
(d) are correct, rest options (a) and (b) 
are wrong.
zz Peninsula : An area which is 
surrounded by water on three 
sides is called a peninsula. Like 
South India.
zz Island : An area which is surrounded 
by water on all four sides is called 
an island.
zz Palk Strait : separates India from 
Sri Lanka and not from Pakistan.
zz The line separating India and 
Pakistan is the 'Radcliffe Line'.

155.	(C) Rakesh said, 'I want to climb the 
Himalayas. I want to take training 

in mountain climbing. For this, I 
have selected an institute, National 
Institute of Mountaineering. For 
enrollment, Rakesh will have to go 
to Uttarkashi district of Uttarakhand.
zz The National Institute of Moun-
taineering (NIM) was established 
in November, 1965. Many types 
of adventure courses, basic and 
advanced mountaineering courses 
are conducted here. NIM played 
an important role in the rescue op-
eration during the Kedarnath flood.

156.	(D)	 In the given question, statement 1 is 
wrong, but statement II is correct.
zz Natural fibers are available in 
nature. Whereas man-made or 
synthetic fibers are made by mixing 
these natural fibers with other 
fibers. These mixed fibers are also 
called man-made fibers or synthetic 
fibers.
zz Examples of natural fibers - cotton, 
wool, jute, silk, hemp and linen 
etc. Examples of artificial fibres- 
Rayon, Nylon, Acrylic etc.

157.	(C)	 In the given question, statements (a), 
(b) and (c) are correct but statement 
(d) is completely wrong. Removing 
weeds is called weeding. That is, 
removing unwanted plants from the 
crop plants is called weeding. The 
process of separating seeds/grains 
from the straw of the harvested crop is 
called threshing and cutting the crop 
after it is ripe is also called weeding. 
Irrigation means supplying water to 
the fields by any means other than 
rain.

158.	(C)	 In the given question, assertion (A) 
is correct that sandy soil is well 
aerated. But the reason (R) is wrong 
that the particles of sandy soil are 
small. Sandy soil is considered ideal 
for farming due to its fertility. It has 
more concentration than other soils. 
It contains 40% silt, 20% clay and the 
remaining 40% sand. The fertility of 
the soil is high due to the presence of 
more pores for the entry of water and 
air.

159.	(C)	 The following statement about weeds 
is correct that weeds grow on their 
own in the fields without being sown, 
it is necessary to remove weeds from 
the field, weeds reduce the yield of 
the crop by using the fertilizer and 
water given for the crop. But the 
statement that weeds do not affect the 
yield of crops is wrong.
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160.	(D)	 Statement A and Statement D of the 
given question are correct.
zz State-run schools are built so 
that every child can be given the 
opportunity to study, that is, no 
child should be deprived of the 
basic necessity of life, education, 
due to financial constraints and 
every student living in the society 
gets to learn new experiences while 
interacting with each other.

161.	(C)	 Largest 5 digit number = 99999
			   On dividing by 139,

			 

139)99999(719
973
269
139
1309
1251

58 Remainder

			   Remainder-58
			   Largest 5 digit number which is 

exactly divisible by 139
			   = 99999 – 58
			   = 99941
162.	(C)	 Largest 5 digit number that can be 

formed from the given digits 
					     = 97630
			   Smallest 5 digit number that can be 

formed from the given digits
					     = 30679
	 	 	 Required difference
				    = 97630 – 30679
			          = 66951

163.	(A)	 Two-digit prime numbers
			   11, 13, 17, 19, 23, 29,  31, 37, 41, 43, 

47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 
97

			   The number of 2-digit prime num-
bers in which digits are also prime. 
23, 37, 53, 73

			   Required prime number = 4
164.	(C)	 (234) × (3*5) = 80730

			   3 * 5 = 
80730

234

			   3 * 5 = 345
			   On comparing both side
			   * = 4

165.	(C)	 1 1 1 1 1 1
, , , , ,

6 12 20 30 42 56

			   Pattern 

		

1 1 1 1 1 1
, , , , ,

2 3 3 4 4 5 5 6 6 7 7 8× × × × × ×

			   The next two terms of the pattern 
1

42
 and 

1

56
.

166.	(C)	 Weight of whole vegetables

			   = 
2

3
 kg + 

1
2

3
 kg + 

1
2

2
 kg + 

			   600 grams

			   = 
2 7 5 600

3 3 2 1000
+ + +

			   = 
2 7 5 3

3 3 2 5
+ + +

			   = 20 70 75 18

30

+ + +

			   = 
183

30
 = 6.1 kg

167.	(D)	
1 1 2 5

, , ,
2 3 5 9

			   Taking the LCM of 2, 3, 5 and 9.

			 

2   2, 3, 5, 9

3   1, 3, 5, 9

1, 1, 5, 3

			   L.C.M = 2 × 3 × 5 × 3 = 90

			 
1 45

2 45
×  = 

45

90

			 
1 30

3 30
×  = 

30

90

			 
2 18

5 18
×  = 

36

90

			 
5 10

9 10
×  = 

50

90

			 

30 36 45 50

90 90 90 90
< < <

			   ... 1 2 1 5

3 5 2 9
< < <

168.	(D)	 Let total students = x

			   Number of girls = 44%

			   Number of boys = 100 – 44 = 56%
			   According to the question,

			   x × 
56

100
 = 448

			   x = 
448 100

56

×

			   x = 800

			   Number of girls in the school

			   = 44% of x

			   = 
800 44

100

×
 = 352

169.	(C)	 Cost of 8 bunches or 64 bananas 
				    = 24 × 8 = ` 192
			   Cost of 66 bananas = 192 + 2 × 4.5
					     = ` 201

170.	(B)	 Time taken by the student to reach 

school = 
4

6

					     = 
2

3
 hours

			   Time taken by the student to return 
home from school

			   = 
4

12

			   = 
1

3
 hours

			   Required average speed	= 
4 4
2 1

3 3

+

+

					     = 
8

1

					     = 8 km/hour
171.	(B)	 			 

		  	 Hence, the given figure has 3 lines of 
symmetry.

172.	 (C)

	 A B

CD

P

Q
R

S

6
cm

6 cm

12 cm

			   Let the side face ADRS be square 

			   whose area = 36 cm2

				    ... side = 36

			                       = 6 cm

			   Area of each rectangular face

				    = 12 × 6 = 72 cm2
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173.	(D)	 Joseph runs 1 km around a square 
park. Perimeter of the park Area of 
square park

				    = 1 km or 1000 m

			   4 × side = 1000 m

			   ... side = 250 m

			   Area of square park = (side)2

					     = (250 m)2

					     = (
1

4
 km)2

					     = (0.25 km)2

					     = 0.0625 km2

174.	(C)	 Let side of the square = x Unit

			   ... Area = x2 s.q. Unit

			   According to the question,

			   New side of the square = 2x Unit

			   New area = (2x)2

			   = 4x2 s.q. Unit

			   So, the area will become 4 times.

175.	(D)	 Capacity or volume of refrigerator V

			   = 270 liter

			   or 270 × 1000 = 270000 cm3

			   ...                 V = lbh

			   ... 270000 cm3 = 1 m × 0.5 m × h

			   270000 = 100 × 50 × h

			   h = 
270000

100 50×
			   h = 54 cm

176.	(C)	 Number of bottles = 8.4 litres

75 ml

					   
= 8.4 1000

75

×

					     = 112

177.	(C)	 H.C.F. of 240, 320, 460

			 

2   240, 320, 460

2   120, 160, 230

5    60,   80,  115

12,   16,   23

			   H.C.F. = 2 × 2 × 5 = 20 cm
			   Maximum possible length of each 

piece = 20 cm
178.	(C)	 Number of odd days from 9th January 

to 12th April = 1 + 0 + 3 + 5 = 7
9  = 

2 odd days

			   Monday + 2 = Wednesday

			   So, 12th April 2023 will be 
Wednesday.

179.	(D)	 Let, S = 1 – 2 + 3 – 4 + 5 – 6+ 7 – 8 
+ .............. + 151

			   S = (1 + 3 + 5 + 7 + ..........+ 151) – (2 
+ 4 + 6 + ........ 150) ...(i)

			   Let, S1 = 1 + 3 + 5 + 7 + ...... + 151
			   Tn = a + (n – 1)d
			   151 = 1 + (n – 1) × 2

			   n – 1 = 75
			   n = 76

			   ... S1 = ( )2 1
2

n
a n d + −  

			   = ( )76
2 1 76 1 2

2
 × + − ×  

			   = 38 × (2 + 150)
			   = 38 × 152
			   = 5776

			   And, S2 = 2 + 4 + 6 + ...... + 150
			   Tn = a + (n – 1)d
			   150 = 2 + (n – 1) × 2
			   n – 1 = 74
			   n = 75

			   ... S2 = ( )2 1
2

n
a n d + −  

			   = ( )75
2 2 75 1 2

2
 × + − ×  

			   = [ ]75
4 74 2

2
+ ×

			   = [ ]75
4 148

2
+  = 5700

			   ... S = S1 + S2

			   = 5776 – 5700

			   = 76

180.	(B)	 LCM = 
Product of two numbers

HCF

			   = 
1728

12
 = 144

qq
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